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Do NOT open this booklet until the start instruction is given.

Your answer must be written on your answer sheet.
Write your applicant number in the cover pages of this booklet and answer sheets.
This booklet contains one mathematics part and ten specialized subject parts (two

each from the five fields of structural engineering, hydraulic engineering,

geotechnical engineering, infrastructure planning and concrete engineering).
6. Answer the questions in mathematics part. And choose four from specialized subject

parts and answer the questions,

7. Youcan ask the instructor to exchange this booklet in case of sheet missing, disorderly

binding or unclearly printing.

8. Use the blank sheet of this booklet for draft writings.
9. Youmay NOT take home this booklet and answer sheets.
10. You will NOT be allowed to leave the room until 70 minutes have passed from the

beginning of the examination.
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Part 1 Mathematics)

O[], [21Z2 T~ THRER IV,

Answer the following questions [1] and [2].

[1]
DS FEX v +2xy = e P O— BBy () ERD L.

Find the general solution y(x) for the differential equation, ¥y~ + 2xy = e ¥,

(DS FER vy -4y’ +3y = cosx D— iRy (x) Z KD L.
Find the general solution y(x) for the differential equation,
y’ - 4y/ + 3y = cosx.

[2]

(D LT OFFIRER 2 E 5 2583, AR DIXEITHZRD &
Examine whether each of the following matrices is regular or not. If it is regular, then
calculate the inverse matrix.

2 3 -1 2 3 -1
(a) [—1 2 1 ] (b) [—1’ 2 1

3 -1 -2 3 1 =2

(2) LT DITFIAT DN TH AT, A FER OP AP = D& 72 5 IERIFT
FIP Lt AITFIDZRD .
Examine the possibility of diagonalization of the following matrix 4. If it is possible,
find a regular matrix P and a diagonal matrix D such that P~1AP = D.

2 -1 4
A=|-1 2 5]
2 -2 6
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Specialized subjects

IO BEOKBOTE 2P BIRUEETDIZ &,

j(ﬁ:ﬁz, 3 *%%I%
K4, 5 KIE .
K6, 7 Mg TS
KR8, 9: EAREES

ART10, 11: =y 2 U—hRI%
FMBEE R A VEHURICRE STV D,

Choose two out of ten parts and answer questions in the parts.

Part 2, 3: Structural engineering
Part 4, 5: Hydraulics

Part 6, 7: Geotechnical engineering
Part 8, 9: Infrastructure planning
Part 10, 11: Concrete engineering

Questions of each part are written in the following pages.



K2 (HEILF)

Part 2 (Structural Engineering)

1. IR 77—y ZRACEHLCROBIGICERA X, BENEFREILE TS,

Answer the following questions about a Warren truss shown in Fig.1. For the sectional force of each
member, tenston is considered as positive.

|le= Jf?" | I | 1
b| ¢ d
112
\\\\////\\\\ , STEN
‘ X
A z ¢V W
A c A
RN R 4/ ] B2 SHHHE
M1 7—LvFIx Fig. 2 Uniform load

Fig.1 Warren truss

1) B3 b-d DM U B K UTEM ce 0D L OREREAB L KD, HFRLEZT W,
Calculate an influence line function of the sectional force of the upper chord b-d (U/) and the lower chord
c-e (L), and draw those influence kine functions.

2) B2 IR RE 12, WHGRE ¢ OFHMEND A DL G IICRd o THEIL 22 b MERE
ELCTHMIERT 2L 2, SHA L OB RKELZRD R I W,
When a uniform load with the mtensity of ¢ and its length of /2 shown in Fig 2 moves from point A to

point G and acts on the lower chords through the truss joiats, calculate the maxinmuim sectional force of
the lower chord (L}.

2. ROFHILOWT, FHEFN100-200 FRECHA LRI W,
Give explanations with 50-100 words each for the following items.
1) #ttobigEk (228E)
Corrosion protection methods of steel members (more than 2 1tems)
2) EhEAr EERES
High-tension bolt friction joint
3) 5 & EAAMTIE
Principal stress and principal shearing stress
1) #EWOFH (RAT LEA)

Strong points and weak points of steel structures



K3 (HBEIZH)

Part 3 (Structural Enginecering)

[. B e R T 0l i E s B A R o R feate, BUF OB B 2 20E0,

Wibration response of a stiictwre under dampad free vibration ts shown m Fig. 1. Answer the following
guastions.

1

5 ‘ l
RN

J

Yibratin response; v

4] 1 jiL# o 40
Time: r (sec)

21 Ser{REhisiy

Tig. 1 Damped vibration response

TIRE E B ¢ A%, 4 = A e conayr TRISNDEE, DOEGHETIENT. BT
(@B LA ) Adeh ey, SREIAE | O BN OEASEZIL TR, 227, 4
FERMIRER ., b AREER. ¢ (RN, o, oy IR R ISR ERTNN, BRHETERO BT W
EhR T s,

When damped vibration response x is expressed by x = A'e¢™"0* coseo,r, calculate the natural
frequency and the damping ratio {or loganithmic decrement). Natural loganthm values in the Table
1 can be used for the calculation. Note that 4 is the initial amplitude, h is the damping ration, 7 is the
time, oy and @y are natural circular fraquencies mder undamped and damped vibration, Tespeciively.
2)HLER ORI, 1 TROITELIL KEOEE @ LR TIRIORE. B O L3481
Fj‘"i:)ﬁ K ‘i’:jg A ?1&' &k *a

Answer how the vibration amplitude and the vibration period shown inFig. 1 change if tb+3 damping

of the system becomes larger than that of 1).

#1 BXEHEOE
Table 1 Valnes of naturad log

x n (x) x k@) x  In@x) x o)
= 0 1.7 0531 24 - 0.875 3.1 ¢ L.131
1.1 0.093 1.8 0.388 2.5 0.916 3.0 1.163
1.2 0.182 19 0.642 2.6 0.9354 5.3 1194
1.3 0.262 2 0.693 27 0.993 3.4 1.324
14 0.336 2.1 0.742 2.8 1.030 a3 1.233
1.5 0.403 23 0.75% 2.8 1.063 3.6 1.281
1.6 0.470 23 0.833 3 1.099 3.7 1.308



2. WS I Pycosoot &E1TS 1 BAMHFHRMORBILEN © (1, RADLICEEND, 20k

T, IRBREEL Po IZ L MRS E L LD CHORIASE (590 Mo &, WA LA & D
R 2 OESICEEND, 22T, oo (EEATREBDE. » (IS OH M, b EEERTHD,
SNEOE NG T EE 43T T EICBIR LR,
Vibration displacement x of a one-degree-of-fteedom forced vibration system subjected to a harmonic
external force (FPy-coswf]) 1s expressed below. The dynamic amplification factor 3, which is the ratio
between the vibration amplitude and the static displacement by Fo, and the phase difference o between
the vibrafion displacement and the external force are shown i Figures 2 (1) and {2), respactively. ex
is the natural circular frequency, m is the mass and h is the damping ratio. Explain four distinctive
points that can be understood from these figures.

Py 1

" T sy

x = coelat — o)

10 , 180 -
8 454
& 120
=] - .
E W 90
4 =
60
2 30
4] i}
a 1 2 a 1 2
@fa, 2/,
(1R Ect oo B FIEEES My (2) IR¥ ¥ Kaln L Ee
Frequency ratio m/mg and dynanic Frequency ratio ofmo and
araplification factor My Phase difference o

M2 SEHRE B AR CE RS
Fig. 2 Dymamic amplification factor and phase difference in forced vibration

3. DERC T L MBiIcow T, TR0~ FRECRHAL LT v,
G-ive explanations with about 30-50words each for the following items related to vibraton theory.

(1)e—FREHT L
Modal analysis method

(2) e
Seismic isolation (base isolated) struchure

(3) B FHEW
Self-excited vibration



K4 (KIZF)

Part 4 (Hydraulics)

LTFO®RE 1~3 DWFRICLEETE D L. NERTSEIEELTANS D L.

Answer the following questions 1, 2, and 3. Necessary symbols etc. should be defined before

using them.

1.

BN AE KRS RRRE TR TS, EEREEZEZ 2, WTHAK
hE, BEORLHOYEEFMCrEE 5. B-1 0L 5 REROMERSICHNDES
p & EABNISATDADE Y Vb, =o— FREICBIT S 1= pdu/drDEH 2 F)
B2 exQOMBE Y IoZ & &R, 7o U, uldx FRFE, widiiE R T 5. Water
is flowing in a laminar flow in a thin circular pipe placed horizontally. Considering steady-state
conditions, the x-axis is taken in the direction of flow and the r-axis in the radial direction from
the center of the pipe. From the force balance between the:" pressure p and the shear stress T
applied to the annular fluid portion as shown in the figure 1, show that equation (1) holds when
the property 7 = pdu/dr ina Newtonian fluid is used. where u is the flow velocity in the x-
direction and g is the viscosity coefficient.

dp+ d(du)_o 1
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2. 2ok iz, v =20 [m/s]T, FEQ = 0.4 [m3/s], BEp = 1000 [kg/m?*| D&
A, FHRICEEREEL, KE2FRICAEELTIRATWS, HFHRIZEEEh TS S
DEL, TRAX—HERE L OERLEOEES 2, BEFA—AKEELcHd 0L
LTLTFORWIZE 2 K. Asshown in Figure 2, a jet with velocity v = 20 [m/s], flow rate
Q = 0.4 [m3/s], and density p = 1000 [kg/m?)] is impacting a flat plate vertically and is
branching in two horizontal directions. If the flat plate is fixed, there is no energy loss and no

friction on the plate, and the jets are on the same horizontal plane, answer the following questions.
(1) FKRESAERICEIFTHIRERH X, Find the force R exerted by the water flow on the flat plate.

(2) Rz, B2 OFEHRORENSFEROAEEZE3 OLHIERE L. ZTT, 0=60°T
hBLE, ARPERICRIETHRE, EFHFRICHND ZRENOWEQ, Q2RD
X. Next, the angle of the flat plate is changed from the jet flow condition shown in Figure 2 to
that shown in Figure 3. Find the force R exerted by the water flow on the flat pfate and the
respective discharge @4 and @, in the vertical direction when 6 = 60°.

Q4

I

¢v —> R

3. HRBO LD RERBELULREER BT 2ARMRAKEE(CRSRIZ, 7, ABF
KRBOTRL, ERBZBTOND. T EREDOL I RBRTH 302 MRICHATL L
CHhT, ENOBEWCEELTWS Z EZRAR X, &7, ZOX 3 RERELAKL
LTHREE 2 25T K.
The red tide, oxygen depletion, and the blue tide formation are the typical examples of water
deterioration phenomena that are often observed in eutrophic coastal waters such as Tokyo Bay.
Explain characteristics of each phenomenon briefly and show that these are interrelated with each

other. Additionally, explain two representative countermeasures for the phenomena.



KM 5 (KIZ)

Part 5 (Hydraulics)

PTFORM I~ OVFRICHRET S L. VERRESRERLTAVEZ L.
Answer the following questions 1, 2, and 3. Necessary symbols etc. should be defined before

using them.

1. E-1RT X DR 2 2O EREST A 74 (ABKE) BHD5. BROW
B ZEBITIIAMBAHE W BIZERIT IV, Fh, 2DOLEDOEROHRE
Qumax T RO L. TNENEPETF 24 CE L L. 7L, WED =30[cm], ABH®
BEEE Lip = 15 [m], BCRADEERE, = 35 [m], EEROMEEIRRIRES = 0.026, AN
AR, = 0.2, I3V DRRBEK, = 03, HOBRBREK, = 1.1, = RAF—HTE
fFZ#a= 11, BPOEAKED/ 0D min = —9 [m], EAMEEg = 9.8 [m/s?] &

% . There is a siphon (circular tube channel) connecting two reservoirs as shown in Figure-1,
What difference in water level AH should be taken to obtain the maximum dischérge Qmax?
Answer each to two significant digits. Also, find the maximum discharge Qp,ax at that time.
The following values are given: inner diameter D =30 [em], distance between AB l,p =
15 [m], distance between BC g, = 35 [m], friction loss coefficient of pipeline f = 0.026,
entrance loss coefficient K, = 0.2, bent loss coefﬁcient Ky = 0.3, outlet loss coefficient

K, = 1.1, energy correction coefficient & = 1.1, and the minimum pressure head

(p/Pg)min = -9 [m]




2. B2 DX, BFTKERAERL P OLICELT 5 HHICRVWIEER SN E DK
HrHD., ZOKBICHAEREqOKEZRT L E, BV ELARKEROBRELTOFE
IET# % %. Asshown in Figure 2, there is a sufficiently long wide rectangular cross-sectional
channel with a channel bed slope that changes from i; to i, along the way. When the water of
unit discharge ¢ flows through this channel, the possible shapes of the water surface are
considered in the following manner.

(D

@)

()

BRI EZRDD, BRAKECIZTIN—FEE =122 L2FBTHE, B
RARTEMBRREqERAWVWTED L IICHT I ENTELINE R L.

Find the critical depth h.. Using the fact that the Froude number F. = 1 at the critical”
depth, answer how the critical depth can be expressed using the unit discharge q.

RIZ, FRENOKRBIZ DWW TETRKRR,ZRDD. ABREARNR, v=2FD
HEREMANTHS L&, FHRAKERIEDLICRT I ENRTELINELL.

Then, for each channel, find the normal depth h,. If the channel bed slope is i and
Manning's roughness coefficient is n, how can the normal depth be expressed?

()R> TRFAR L BHAEL EZNENRD B &, KERARIET
% EFRITlEh, > ke, THANTIXh, < h kipofc &3, Rl - THARAIOKE
FRENENEDL S ITFEINZNEZ L. B, TNHOEMB TR NT, ¥ —F
1, Y= h2BE2DEICREENTVD L&, KEMOEEEH#IT. ik, K
EFDAHT (MR05,72 ) LARETENRE DR & ZRAOTRYE. BT CRAKERZ
LBHEER, BbKkERBESDBHNIE, 2OBLEOAMER T, Suppose that,
following (1) and (2), the critical depth and the normal depth, respectively, are found to be
h,>h; upstream and h,<h. downstream, where the channel bed gradient changes. What
are the upstream and downstream channels called, respectively? Furthermore, under these
conditions, when Gate 1 and Gate 2 are installed as shown in Figure 2, draw a rough sketch
of the water surface shape. Also, indicate the name of the water surface shape (M;, S,, etc.)
and the direction in which the water surface shape is determined by the arrows. Indicate the
approximate location of the critical depth or hydraulic jump, if any.

X 2



3. AT ORWZEXZ2EW . Answer the following questions.

(1) ZREDOMIACENT, IMEEIXED X S KRR TE 57, BEREERDHFESIC
DNTERRIWV. L, X7 PAREIEIHVRNbD LT3,
Explain the acceleration of flow toward x direction in a Cartesian coordinate system in the three-

dimensional flow, Vector notation should not be used.

Q) AAF—OFEEF IV 20FEORBVERAYT L.
Explain the difference between Euler's method antsi Lagrange's method.



K6 (HATE)

Part 6 (Geotechnical engineering)

(1] LAFoigaI &R Bie L, SIS L TR - BRAEFALTL LW,

Explain the following terms. You can use illustrations andfor equations if necessary.

(1) e HRE
Short-term stability problem.

(2} 7% hER
Rankine’s earth pressurc theory,

Rl BEOLIE, a=30° EHLEWEROLCESH=5n®

BB RIS TS, HTREIZMEN LIRS B =
4m DOMBITH O, BTRKELURORNE TITEEI L1ITRF
FHCER RRBEREE LTS, E£7o, MTREL RO
H—Z 5,=55%ToH o7, 28, RO LA FOHE G =280,
FIBEEL ea=0.80 TH D . KOFEHEp =1.00m’. HIMEE =028
m2 ThB, SHEIZINTTVZ =141, V3=173E BT LW,
LIF O L L,
As illustrated in the diagram, & weathered layer with a depth of =5
m uniformly overlies a steep, rigid bedrock inclined at & = 30°. The
groundwater table is situated at a depth of H) =4 m from the ground
surface, and within the saturated zone below the groundwater table, a
steady-state seepage flow is established along the slope. Moreover, the saturation above the groundwater
table is uniformly at 5. = 55 %. The specific gravity of soil particles in the weathered layer is G: = 2.80,
with a void ratio of gy = 0.80. Water has a density of o, = 1.00 t/m?, and the acceleration of gravity isg =
9.8 m/s2. If needed, v2 = 1.41 and V3 = 1.73 may be employed. Answer the following questions.

(1) BB LRBE R L TRIE—EO&MCHAZHERRB LT, €4 E0 =200

KN/m?, &I u = 100 kKN/m® OB CIIMEc, =460 kKN/m? D & E [ZHREFSHE L., BV Eae
=300 kN/m?, I u = 100 kN/m® DB TIIBE oz = 760 kN/m® 00 & & [CEERIEASRER L7,
E—AOFYMEAMAEHEE, BIEBOREN e TABERHAsERD L,
Drained triaxial compression tests were conducted under constant radial pressure on soil samples derived
from the weathered layer. In a test with a cell pressure g, of 200 kN/m? and a back pressure 1 of 100
kN/u?, the specimen failed at an axial stress o, of 460 kN/m?. In another test with a cell pressure g, of
300 ¥N/m? and a back pressure 1 of 100 kN/m?, the specimen failed at an axial stress o, of 760 kN/m?2,
Draw Mohr's effective stress circle and determine the cohesion (¢ and the angle of shear resistance (69
of the weathered layer.

@ Bie# L EMOBERECERT BB Ho EMBAE « 2RO &, £, BiLEOT~
DTk 2R L EFHET L,
Determine the vertical total stress {v) and pore water pressure (1) acting on the boundary between the
weathered zone and the bedrock. Additionally, calculate the safety factor (F) against slip for the
weathered layer.
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K7 (HiAgTH)

Part 7 (Geotechnical engineering)

LLT @ik e i L, SRS CCHE - Sl R L Th £y,
Explain the following terms. You can usc illustrations and/or cquations if nccessary.
B

Scnsitivity ratio.

Ve ety ik
Fellenius method.

BREGDE S ETABMOENT-EBEERTEHS, HMiTE
HF O B G, =2.70, BIPELL co=0.70 ¢, W8 PRSI A E I f k8
OFE EEAT. TSR TCE RS EN LD LTS, B
(LA RF L E Go=2.70, BRI c0 =240, EFRI G =56.7 m¥HE,
ERHEE C. =10 ThH %, i, BMTXEIREDS s morEIzh
B AREHELEOBRFME S = 51 %, T ARBLAELNILE S = 100 %
b, KO = 1.00tm', HAINEE g=98 mis? TH S, [LFER
MIGHLEEEOMREIRESET L L, £/, S¥gizmeT
logie2 =030, logw3 =048 AT L, HMTFoMuicE s b,

A normally consolidated clay layer is sandwiched betwecen the upper and lower

sand layers, as shown in the figure. The sand layers have a specific gravity of

{7:=2.70 and a void ratio of eq = 0.70. The porc water pressure within the sand
layers remains at hydrostatic conditions, and scttlement is negligible. The clay
layer has a specific gravity of G, = 2.70, a void ratio of ey = 2.40, a coefficient
of consolidation (C,) o1 56.7 m*ycar, and a compression index { () of 1.0. The
groundwater lable is Jocated at 5 meters below the ground surface, with a

¥ (Sand) T

S,=51% ™
3
¥ (Sand) -
S=100% o™
- - — .}

L (Clay) BEEER

& (Sand)

saturation degree (57 of 51 % in the unsaturated zone above the water table and 100 % below it. The water
density is g = 100 /m®, and the gravitational acceleration is g = 9.8 nv's®. Refer to the table for the relationship
between the consolidation time factor (T.) and the degree of consolidation {L7). If nccessary. you may usc

logiu? = 0.30 and log1n3 = 0.48, Answer the following questions.

FEEE U s iR

Degree of consolidation (U/) and consolidation time factor (7)

Uyt 10 20 30 40 a0 60 70

an

90

T 6.008 | 0.031 | 0.071 .[}.12? 0.197 | 0.287 | 0.403

0,567

0.848

(1) HRASIESE 20m ZTOHBIZ SO TRE 2N a3 KURBARE o0& 2 & X, ok,

BRI TR SR AT o,

Draw the distribution of vertical total stress () and porc watcr pressure (u) for the ground up to a depth of
20 meters from the ground surface. Pore water pressure distribution is only required for depths below the

groundwater table.

(2) Bl A, 825 tim BRI BRI ER L, S48 THL I L AR

DEHE LTRSS 2RO 20,

After the placement’of the embankment, a uniform surface load of 8.25 tim? is applicd to the ground surface.
Calculate the degree of consolidation ({7} and scttlement (S} three months afier the placcment of the

embankment.



K8 (LAFHEZ)

Part 8 (Infrastructure planning)

LLFD 3T EMERE X, Answer all the questions from 1 to 3.

1. UFORICTTLIR, BEX &Y TRASRD SHOT—¥BH5B. Y X TH
s Lie e, BERORERE (MORUTE2 (IET) 2RD L.
Given the data shown in the table, find the linear regression equation of Y explained by X. Then,
calculate the coefficient of determination of the regression equation (to the second decimal place).
X -3 S 0 1 3
Y 0 1 2 1 6

2. LTFORABIZOWT, AT THAE XK. Explain the following words in a few lines.

(1 MM (CVM)  Contingent Valuation Method

(2) ZBEFHEICETD THEFERR] “effective green time” in traffic signal control

3. LATORWMZE X L. Answer the following questions.
HABERICZBEREN 1,600[&B/ME]DOE hLRy b
IRBY . TOR MRy I SO ERBEER ﬂx traffic demand |
ERO LS IZRENTVS, 600 DREZEESY 160 —4——r——— _ Lraffic capacity
0 & LT, MBAEDLERMEE COREEE .
fhig - BREHEREBRERHT, ShookEic ks
MRIENEFR] & R X,

i [

There is a bottleneck (capacity: 1,600 [veh/h]) on a 800 700 800 900 1000 11:00 1200

1,000

highway and the arriving traffic demand was observed . e

as shown in the figure. Draw cumulative arrival curve and cumulative departure curve on a graph
until the queue dissapears by setting the cumulative volume as 0 at 6:00am. Also, obtain the amount

of the total delay by this queue.



K9 (LARHEZFE)

Part 9 (Infrastructure planning)
UF o 2 D2 TEMEY L. Answer all the questions from 1 to 2.

1. L TFORAZEIZ2OWT, #EiTTHBEE L. Explai.n the following words in a few lines.

(1) ZV—2A7F GreenInfrastructure

(2) FEME|&#FTH Non-divided City Planning Area

(3) HMZTHRBOHEFITRBITSH ST YT 47N Gravity model in trip distribution modeling

2. LITORIWZE X L. Answer the following questions.

(1) TELEOZI2FFFALL 2050 RN TaVRZ ks FPTR Ry hT—s L1
FHPRENI, COFHPRENTEER (Fk~DFE) &L bit, 2oz 3y -
TR Xy FI—Z LR EDLIRLONERAT R, &b, a7 b-FT R
Xy NUV—7 DFRICR VTSI PDREHT L
In the " Grand Design of National S‘patial Development towards 2050, Japan", a policy called
"Compact-plus-Network" was proposed. Explain the background of this policy (concerns for the
future) and what Compact-plus-Network is. In additién, explain the expected effects of the

implementation of the Compact-pius-Network.

FEFBEPREOBIEO T2 LIFEORK ZRIRT A1THICHLT, v¥y bEFIVE
BAL, RETNMCEBWCRE | 2 BRT 2580 AOMEE Vi BRATRENE LT
5.

Suppose that a logit model is applied to rail users’ behavior of choosing a route among multiple

routes and its observed term of utility of choosing route i, ¥, is expressed as follows;
Vi = BioeXpive + BerXitr + BeostXicost

I, BEiizonT, xi,m%iﬁﬁﬁ#ﬁﬁ (4, xi,tﬂi%mﬁ#fﬁ (43, xi‘cost}i%m
(F). Bivts Bifs Bost MABA TR T B BFERTRIA—FTHY, ZZTIHETADE
LD,



where x;;,; is the in-vehicle time (in min), x;¢r is the transfer time (in min), and x[-.mst' is the
cost (in JPY) for route i. Biyr, Ber, Beost are preference parameters for each variable and all

negative,

2) ﬁt%ﬁﬁ%@ﬁﬁﬁﬁé%ﬁ%%ﬁﬁ%®%ﬁﬁﬁ%%ﬁ%#%k%,ﬁﬂ%

d d

RTT A —FZOHEATEREREELZ R,

icost Xicost

If the value of in-vehicle time is defined as 2= and the value of transfer time as d—,
dxpive axier

express each value of time using only the preference parameters.

b) FEHNER & FAARERI OB RMEIIC VT, 400 S5 KA & 2 DEH 2R
X.
Explain the expected relationship (relative size) between the values of in-vehicle time and

transfer time and why it is.



K10 (2r7 Y—pI%)
Part 10 (Concrete engineering)

Fig.] \ZR ENDEDQMITE— A 2 M 22T AESHRFEMEOIX D T2V TROM
WIZER X, av s ) — NOERREL £ =30N/mm?, =227 Y— DY SR
E~28KN/mm?, kFh DFERBELIL £ = 400N/mm?, k0¥ - 7 REIT E,= 200kN/mm?
THBH. b=500mm, d=700mm, d’=50mm,h=750mm, =227 J— FDOIEHEHEOT
4 0.0035 & 95, ZTOMOLFRLESLTEHEEE L TAVWSZ &,
Concerning the doubly reinforced rectangular beam subjected to positive bending moment shown
in Fig.1, answer the following questions. Compressive strength of concrete £2' =30N/mm?,
Young’s modulus of concrete E.~28kN/mm?, Yielding strength of re-bar £, = 400N/mm?, Young’s
modulus of re-bar E;= 200kN/mm?, b= 500mm, d=700mm, J=50mm,%=750mm, and
the failure strain of concrete in compression is 0.0035. Other necessary symbols can be used with

appropriate definition.

b

e

Fig.1

(1) EAEERRS 4,'=7000mm> T, 53RN 4=7000mm? & 32, ZDL &, ZOBEN T
EF—AV MOBEZTTRETIHOT— AL MR L, #HETIEOEEL TS
T,

Assume that compressive re-bar 45 "=7000mm? and tensile re-bar 4,=7000mm?. Then, obtain the
moment when this section subjected to only moment shows failure. All the assumptions for the

calculation should be explained.

(2) MEORLAG e IETBEN AL BICROEN 7] D352 b & T eTE M
HELET 5, BIEBRIIEINT 2R 0ERE e 23R X,
When compressive axial force N’ with eccentricity e; was applied to this section, the section

showed balanced failure. Obtain e; corresponding to this balanced failure.



K11 (2>27Y— I
Part 11 (Concrete engineering)

WOFHIZOWTHAY X, HE, MHOEDICEKERWE,

Explain the following words. You can use appropriate figures for explanation if necessary.

(1) 794 TFvvadiZbyzarsV—rEibay s ) — M RIETEE

Effects of fly ash on the properties of fresh concrete and hardened concrete

(2) BERFHIBT SMEHROEERE

Importance of sand/aggregate ratio in mix proportion

(3) AERAERIC L AREVTCEN O A

Mechanism of thermal cracking due to external restraint

(4) RC ROMHUTEINRAMEICK T 5 THERER
Size effect in diagonal cracking strength of RC beam

(5) RC 2T OUEINEERDE 25

Theory of equation for calculation of flexural crack width of RC beams

(8) thtyREBEE A BORE =2 ) — b EEAT LB

Needs to utilize self—comp'acting concrete considering social situations
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KA1 (%)

Part 1 (Mathematics)

WO RIRE[L],[2] % 5~ TARE 72 &1,
Answer the following questions [1] and [2].

[1] kOFEHSFRRA (K1-1) %2, £EB0-2)E0-3)DH & THEIT,
Solve the partial differential equation (1-1) under the condition {1-2) and (1-3).

Ay

9%u 8%u
u(0,t) =u(l,t) =0 (1-2)
(1-3)

7
u(x,0) = sin (%x), a—t(x, 0)=0

s—v—if

I, u=u(x,)THY, kI ITEQCEETH B,

Here, u = u(x,t),and k [ are positive constants.

2 0 0
[2] 1T51A=[0 4 s]b:ou\'c, PLTFORINZE Z e &y,
0 4 3
. 2 0 0
Answer the following questions about amatrix A=1{0 4 5
. 0.4 3

(V) 1TTFIAIZ 2T, PTIAP =D& 72 AIERIITHIP & it AITFID A KD 72 SV,
For the matrix A, find a regular matrix P and a diagonal matrix D such that

P'AP =D,

(2) 1THIADRFE (ANER LRIV,

Show matrix A to the pth power (matrix A"



EMHE

Specialized subjects

10 EDO KB DR 7L 4 BERRLMET D Z L,

X2, 3: HiETE
K4, 5: KIEF

KR6, 7 HhAg T &
KRG8, 9: ARE

KR 10, 11: avy —I%
EREILRAS-VHURICREfSA TN S,

Choose four out of ten parts and answer questions in the parts.

Part 2, 3 Structural engineering
Part 4, 5: Hydraulies

Part 6, 7: Geotechnical engineering
Part 8, 9: Infrastructure planning
Part 10, 11: Conerete engineering

Questions of each part are written in the following pages.



K2 (HMHRE)

Part 2 (Specialized subject)

L B LZRT RS, REIDRFFFHE AC DN C ARE [ OBHMKE BD OFE M C THAL
T3, BHHE P AREFHR AC L0 A DS I3 OEIZHHLE, C KiLBiTF57h T8
EROT, ZORMBEEZ LT OFIETHZLEE R D, LLTOBBEICE I, 28, Ebb
DEOMITEIED EI &5 D,

A cantilever beam A-C is supported by a simple beam B-D at the center point C as shown in Fig, 1.
Both beams have the length of /. When a concentrated lead P is located at //3 distance from A on

the cantilever beam A-C, deflection & at the point C is obtained by the following steps. Answer the
following questions. Note that the both beams have bendirig stiffness of EL

DB 2-1 R4 &E | OBMBRO PRQUICE TR E X MER T 5L &0 FRRDIDH8%K
WIREV, ZTTROBITRAINER EI &2,

Calculate deflection & at the center point of the simple beam with the length / and the bending

stiffhess of £J, which is subjected to the concentrated load X at the center point as shown in Fig,
2-1.

2YH 22 IR TEESR AND I3 OEEETEPNE P LARBKERPRE X2SII2RX /D
FRBZEO RO AT ROEE, 2 TROM TR B/ &5 5,

Calculate deflection & at the free end of the cantilever beam with the length of / and bending
stiffness £/, which is subjected to the concentrated load P at //3 distance from the fixed end A
and the concentrated load X at the free end as shown in Fig. 2-2.

3)1) TR T=FobIn ) TR T T N E L DR, B HTRTIEEIBVTC A
TDFbh TR DHIREN,

Equating the deflections obtained by the steps 1) and 2), calculate the deflection 8 for the
structure as shown in Fig. 1.

B EY

AN
P ’ A
I3 gl 12 3 D

12

N

B 1 ARLRO SRS EMBE T ME
Fig. 1 Cantilever beam supported by simple beam



. X Q 3 ¢ p
1 N b
T 2 \ 1
|
| n \ !
12 5 - | % 5 *
& 2-1 $ERWELFETHHMSGE 2-2 EPFEEZZITDIAFLR
Fig. 2-1 Simple beam subjected to concentrated Fig. 2-2 Cantilever beam subjected to
load concentrated loads

2. & 3 1%, 88400 A2 X OEERO B | BREREIT oI B LN AR o — O AsD R ERLT
WA, ZOEH T, OB Iz W TR IR 3 B BT FRER
100-200 FCRRBALAZE,

Fig. 3 shows the relation between stress‘(cr) and strain {e) of mild steel such as SS400 obtained
from a tensile test. Referring to the figure, give explanations of three mechanical characteristics of
mild steel with 50-100 words.

[ P

¥

Ep

X 3 DI Fr il i

Fig. 3 Stress (o) - strain (g) relation of mild steel



KR3 (HMHE)

Part 3 (Specialized subject)

L H 1Y | HRERBRZE XD, HEm OENERE A BIREZ L RORELE 2 IR

. LT ORCE X RS,

Consider a 1DOF oscillator as shown in Fig. 1. Free vibration
response of the mass is shown in Fig. 2. Answer the following ///
questions.

1) E 2 DR R BIREERY L OREIR OB REEL,
FREEERDEE, k
Calculate natural frequency and logarithmic decrement of the
oscillator from Fig. 2.

2) ZOFZORENDHEFEL /=L | B5Z] 10 B COZENL x 23R4 m S
B, 238, K Z 0 TIRBY IR KIEDLIEEDLDET D, T, ix
SHEICEEL T UFO@EERAWTHL, 22T, In*id, *0 A
Atk RT, 1 | BRERER

When the vibration continues, calculate the response of the Fig.1 1DOF oscillator
mass at time of 10 second. Assuming that the vibration starts

from the maximum displacement at time zero. The following

values of natural logarithm can be used.

In9 = 2.20, In10 =230, Inll1=240, In12 =248
In13 = 2,56, Inl14 = 2.64, In15=2.71, Inl6 = 2.77
In17 = 2.83, In18 = 2.89, In19 = 2.94, In20 = 3.00

TR
dgg é? ﬂ” Iﬂ_n; ﬂn SR IR L
f
A TTTLY

2 % BRI

Fig. 2 Free vibration response

2. B 3 IR T BB Z T A EMOREIL, LT OESH FERN (L) TRED,
Equation of motion of a structure subjected to earthquake ground vibration shown in Fig. 3 is
given by Eq. (1).



2 a2
md—f+c@+ku=—m—u2g 1)
dt dt dt
ZIZT m e  KITTNENEEMOE &, WEREL SAEE. wl 3RO, u 1348
EHOZ RO DEREN, 1IXREETHD, 20L&, BEHOENEMIDIRIE B LXEE

(L DIRIE U, DT, LT OR(2) TREDET D,

where m, ¢, k are mass, damping coefficient and spring constant of the structure, respectively, u,
is absolute displacement of the support, u is relative displacement of the structure, and ¢ is time.
Ratio between the amplitude (B) of the absolute displacement (w) of the structure and the
amplitude of the support displacement (Uy) is given by Eq. (2).

B \/ 1+ 2halo,) -

M, =—-=
U (1= (@/®g)* )’ +(2hao/w, )’

g

TIZT, by o RENENEENOBREY, BARRDE, ol ZXAELOIEH#THD,
Fio, Q) TRENDIEGEAISERHER Mr 2 IREM U Lo/oo & ORIR TR Lic b OBE 4

TH D,

where h and wo are damping ratio and circular natural frequency of the structure, respectively, ®
is circular frequency of the support displacement. An amplification factor of the absolute

_displacement (M7) given by Eq. (2) is given as a function of the frequency ratio (®w/cq) as shown
in Fig. 4. ‘

PlEoz i Lz, #HEHOMBHEELEMS A2FEL LTOHE, £EIZBEL T,
2IEB L EFAEN 100~200 FREE THA L2 &0,

Based on above, give explanations about seismic vibration control and seismic base isolation in
order to reduce earthquake damages of structures. More than two items with 50-100 words each
should be answered.

10
i o 9
=
- m - 7
L -
! F] § 6
' 4 §
I f
&k ] 4
! !
] H 3
it
' 2
u,=U, cosm? 1
s Z
M 0
> 0 0.5 1 1.5 2
ly /g )
3 HEEICLAEBEDOED B 4 HSHEAIGE SR

Fig. 3 Vibration by earthquake ground motion Fig. 4 Amplification factor of absolute displacement



K4 (FM#AE)

Part 4 (Specialized subject)

UTOBRML~3OWTIICLMBETHZ L. NERERENIEREL LTAVWSZ L.
Answer the following questions 1, 2, and 3. Necessary symbols etc. should be defined before

using them.

1. TEDQ L SICEAFBOKEPAKFIZREEN TS, 0L, BUTOMWIEL
L. L, BEAMNEES 98 mis?, KOBEE 1.0 g/om® L5 5. A square gate was
installed in the water, as the diagram below. Answer the following questions. Note that the
acceleration gravity is 9.8 m/s?, and the density of the water is 1.0 g/cm®.

(1) AMIZIERT 2 2KkEZEHKD L. Consider the total water pressure acting on the gate.

(2) EXKEDERADONME () ZRK¥H . Consider the point of action of the total water
pressure ().

2. THNVMNEBERIBITLI VT - A -7 2A0FRAD 5L, $hiE FHEpks &S
FRIAELHRL, G, EHOENENDEMTZERL TWSOMGHEAE L. £k,
FExT « A =7 ZADFERIE LA AXFERAOEWVEHIAY X, Show the vertical
component of the Navier-Stokes equation in the Cartesian coordinate system and explain the
name and physical meaning of each term in the equation. Moreover, explain different points

between the Navier-Stokes equations and the Reynolds equations.



3. BBRICB W TA L SHEOERAEREELRAT L. £, BBV TRE 2m,
AR 8 BTHLERITH LT, SHEMRR 125 T TEARRZAT I HE, HE LAY
WL Bz T T LV sk K. Explain the mechanism of wave shoaling that occur in
shallow water region, Moreover, a laboratory experiment is conducted on a dimensional scale
of 1/25. Consider the wave height and wave period in the laboratory experiment when those

in the field are 2 m and 8 s, respectively.



KR35 (BMFLE)

Part 5 (Specialized subject)

UTOBRML~30WTFNICOMETHZ L. NERTESIIFEREE L THNLZ L.
Answer the following questions 1, 2, and 3. Necessary symbols etc. should be defined before

using them.

1. TRO LS ICEAKMNDAKZ, @& H BiTE () 0¥ LAZERLTNS. &
DB, LFTOMWZELZ K, 2EL, Mo F—0EERmE 5 LAORELL, F
7z, TARNF—RKITMEET S L &9 5. Water in a reservoir is flowing over a dam of
height A and width b, as shown in the below figure. Answer the following questions. Note

that the reference level for potential energy is the top of the dam, and energy loss is neglected.

(1) Bk OKE EDORA (F2X0 b+ eR) OaT R NF—KEE &K
® &. Find the total energy head E; at point A on the water surface in the reservoir (the

point is far enough from the dam).

(2) FADFEICEBNTHAIZRAIME 2D, MR LI LD L D 2pih i HAE

&. At the top of the dam, the stream is critical flow, Explain what the critical flow is.

(3) B TOWE (RAFE) ve & B4 DHEZELE AT A—F LT BHIETRE. Express
the flow velocity (critical velocity) vg at the point B with the only E4 as a_variable

parameter.

(4) HE¥iE Q & E, & A THRE. Show the overflow rate Q by using Ea,

A
F—==
HMEE - X

Reference level

Brakit

Reservoir

Ha
S S S



2. BROBNCETHLUTORIVICE 2 K. Answer the following questions about pipe

flows.

(1) WD, £ LOZ>TRABICHE v TP TS L E, BRICLST
ANF-BERAKETEOL S IR I B0E % L. Consider a flow in a straight pipe
with the inner diameter of D and the length of L. when the velocity is v, show an expression

for the pipe friction loss head.

(2) FERIR e BARBIE 4 220T, T Fh O+ 2 BRE X, Itemize four possible form

-losses and sketch each appearance.

3. Bk Lz BGHMAISIC 3813 BRI, FMORAE AN = X AL BB L. Explain
the mechanisms of the occurrence of red tides (abnormal phytoplankton blooming} and blue
tides in a eutrophic semi-enclosed coastal sea.



A6 (FfFE)

Part 6 (Specialized subject)

[1] LFOsEEZ#FAE &, HESUCTHE - HRXEFHALTH L,

Explain the following terms. You can use illustrations and/or equations if necessary.

(1) ik +FERK

Coefficient of earth pressure at rest

) A—sr—arR gy

Over compaction

By FALAFi—
Dilatancy

2] LTEWEIESENCEE 10 m OERESE TR bR £ 5 U CREREEERR
EERH U, & 58T ERETHRERZIE gy = 100 kNm? > 5 EEE MG &
100kNm? 527 & 25, 54T 1.0 mm OEERT&24E Ulkcth, BRALTRIL 20 mm
WIE Lo, WIMRTORL e=2.00, A ERES H=200mm ThHot, EBE L EERT
BRI OBMRIL T OROBY TH D, AROBEMFHERL 9.8 KNm? L5, LB
LT logio2=0.30 #HWT LV, TioOMWZE L L,

An oedometer test was conducted on a sample taken from a normally consolidated clay layer
with a thickness of 10 m located between sand layers. When total vertical stress g, was
increased by 100 kPa from a vertical effective stress ¢, of 100 kPa at a loading stage, a
settlement was reached 1.0 mm at 5 minutes and the final seftlement was 2.0 mm. The initial
void ratio of the specimen e; was 2.00, and the initial height of the specimen f was 20.0 mm.
Degrees of consolidation and corresponding time factors are given in the table below. Unit

weight of water is 9.8 kN/m®. Use logi02 = 0.30 if necessary. Answer the following questions.

FE BE & FE e Rk

Degree of consolidation and time factor

U.(%)- 10 20 30 40 50 60 70 80 20
T 0.008 | 0.031 | 0.071 | 0.127 | 0.197 | 0.287 | 0.403 | 0.567 | 0.848

(1) ZOEOEFBZE C [em¥53]1%ERD L,

Determine the coefficient of consolidation C, [cmzfmin] of the clay.



(2) ZoRLtoERRE C.ERD I,

Determine the compression index C. of the clay.

(3) TORLBPEEEEFRRLELSAEFUTERIND L X, 0 %NEEPEITT DI
EHY A0 [FlEFDEEDEFLTE [em]Z2 R X, ‘
Assuming the same stress condition as the oedometer test is applied to the clay layer, calculate

the time [year] required to be 90 % consolidated and the corresponding settlement [em].



A7 (FFMRE)

Part 7 (Specialized subject)

[1] UFOmAEEEE L, HECHLTHE - ERAFELTD L,

Explain the following terms. You can use illustrations and/or equations if necessary.

(1) BEIFRKE

Excess pore water pressure

(2) ZHT4T70V0vav

Negative friction

(3) koarvARFL—

Consistency of soils

[2] ¥EFEHDORVERFIR & L 150 KN/m? D b & THERIE o.'= 200 kN/m? & TEFIEE
L7-%%, EEIEHK (CU) ZfERERR 21T o7 & 2 5, SR TIARIBIRRAE ue=-100
KN/m?, BH3E5R S oy (= oy- on) = 300 KN/m2 D348 Hivte. BT ORWIZE X X.

A consolidated undrained (CU) triaxial compression test was carried out on cohesionless,
saturated sand at an effective confining pressure o.'= 200 kN/m? under a back pressure of 150
kN/m2. As a result, the excess pore water pressure #rand the axial stress difference g/(= o17- 63)

reached 100 kN/m? and 300kN/m? at failure, respectively. Answer the following questions.

(1) BEED T —AOIAMERT. BHSHR LCLEHOEAAE TN ENES, M
BRTHS Z &
Draw Mohr’s circles of the effective and total stress at failure with a solid line and a broken

line, respectively.

(2) ZOWDFAEERAS LT DL E singZRD L.

Find sine of the angle of shear resistance ¢' of the sand.

(3) B AR LT, FEmEE, % 200kN/m2 iI2{E - 72 £ £ EEHK (CD) =#i/F
MRBREITo, MEROERAE 2RO L.
Find the principal stress difference grat failure when the same specimen is subjected to
consolidated drained (CD) triaxial compression test at the effective confining pressure o=
200kN/m?2.



K38 (HF%ER)

Part 8 (Specialized subject)

AT @ 3N TH#MERE L. Answer all the questions from 1 to 3.

1. UTORICTTEOIR, BEX LY TRAENDSHMOT—F55H5. Y% X THIE
BHEL7=RE, X & Y DRERK (MERUTHE2MAET) ZROBEV.
About the data shown in the table, calculate the linear regression equation of Y
explained by X. Then, calculate the coefficient of the determination of X and Y (to
the second decimal place).
X 1
Y 2 2 4 2 0

2. LT OB 2T, T CHAYE L. Bxplain the following terms in a few lines.

() v—Z7F%E  Peak Hourly Factor
(2) ERRELROFEER TFlow Ratio of a Signalized Intersection

3. LUFORWZE 2 L. Answer the following question.
HOBEREEITT DEMOFE v & BEREERE s ORICER O X s[m]“
5 72BRRH 5. SR 1000[venh] D BRARFBENTEN TS &

T, BHICLVERPESICHAELL. FHRLE | BFED 2B
BHORSERD L.

The relationship of speed and headway spacing on a certain highway

0 >
is shown in the right figure. Suppose uniform traffic flowing in 1000 40 ]

[vel/h], the highway was blocked completely by an accident. Obtain the length of the queue in 1

hour formed by this.accident.



K9 (FMFLE)

Part 9 (Specialized subject)

LT 2 B DE TERES L. Answer all of the following two questions.

1. L TOHECSWT, HITT#HEA® L. Explain the following terms in a few lines.

1) VT4« wRxY AL N Mobility Management
(2 72 F¥ w2 cul-desac
2. LATORIWZZE 2 &. Answer the following questions.

() BRERSITEISMPAZHBAL, RHICELZ Y MBWTEO LS ICERAER
b R BB Oy, TR L 72 & 0, Explain what ‘cost-benefit analysis’ is and write down

formulas to calculate cost-benefit ratio for a long-term project.

(2) Sherry R. Amstein IZ X2 THIRSMOIEIL T @ 8 BRITOWTHAE L.
Explain the eight rungs of Sherry R. Arnstein’s ‘a ladder of citizen participation.”



A1 0 (FMFE)

Part 10 (Specialized subject)

RIZRT, R/ RRERSICHE 2 AEPFHELZIT A RCIIY 2E 25, MEHRERIC
RTEY TH DB, BRFOBKRKE £=350N/mm?, 5D Z1EE E~200kN/mm?,
A:=2000mm?, j;’=3QN/mm2, =227 U — bOBBEOT A ,,=0.0035 T 5,

Concerning the singly reinforced rectangular beam subjected to positive bending moment shown in
the following figure, answer the following questions. Yielding strength of re-bar £y = 350N/mm?,

Young’s modulus of re-bar E;= 200kN/mm?, 4~2000mm?, Compressive strength of concrete f.’
=30N/mm?, the failure strain of concrete in compression is 0.0035. Other necessary symbols can be

used with appropriate definition.

P2 P2
3200mm 200mm 3200mm 400mm

800mm [700mm
d

=

-

() WFESRET AROWELRD L, HET 5 BOEE b~ TR, BB HhED
OF B4 & 55 %t k.

Obtain the load P when this section shows failure. All the assumptions for the calculation

should be explained. Show the strain distribution and the stress distribution in the section at the

failure.

(@) As732000mm? D HREBIZHMT D LTRET— FRELT 5, HIEWEL DL ZD 4
R L,

When 4; is increased from 2000mm?, the failure mode of the section is changed. Obtain A

when the section shows the balanced failure.

(3) A VX BIZHAL T 20000mm? &/eof b &, ZORIETERREZALS, =
DL EOWERELRD L, BESTAIHEOOTLLMEENFHZRRE L,



When A4, is further increased to 20000mm?, this beam shows bending compression failure.
Obtain the load P at this failure. Show the strain distribution and the stress distribution in the

section at the failure.



A1 1 (MFR)

Part 11 (Specialized subject)

WOBEFHCOHNTHAYE L, #E, FROCLEDHIIKERWE,

Explain the following matters. You can use appropriate figures for explanation if necessary.

(1) 94T vaZ2BIMELTHNARZ L7 Ly Y aary—hEi{bary
J— b~DRE

Effects of fly ash used as additive on fresh concrete and on hardened concrete

(2) BAbFv ey FOKIREG

Hydration of Portland cement

(3) avs V—rOEE

Frost damage of concrete

(4) BiABEEZIV/NELTHILDER

Significance of setting smaller unit water content

(5) AT BT 5

Size effect in shear failure

(6) HEDAH=X

Mechanism of chloride induced corrosion
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Part 1 (Mathematics)

WORRE1][2] % TR THEX 72 &1,

Answer the following questions [1] and [2].

[1]

(1) y" +4y'+4y =0, y(0) = 10, y'(0) = 10Z /=T By (x) &R &.
Find the function y(x} such that y” + 4y + 4y = Q, y(O) = 10, and
y'(0) = 10.

@QWAHTRRY +2y = cosx®~ﬁxﬁ¥y(x)%::k&b X. _
Find the general solution y{x) for the differential equation, y’ + 2y = cosx,

[2]
(D EATFOITFIAIERMNE 2 38~ EBIRS ;’cﬁﬁﬁﬂ%ik&b X£.
- Examine whether the following matrices is regular. If it is regular, then
calculate the inverse matrix.

2 2 4
3 0 8
2 3 3

2 0 2
(2) A= -1 2]c_owc PIAP = Dr‘:éEﬂu»’ﬁﬁUPaﬁﬁa THID% 3K
-1 3 5
HL.
2 0 2
Forthe matrix A=|1 -1 —2], find a regular matrix P and a diagonal
-1 3 5 ‘

matrix D such that P"1AP = D,
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KRz, 3: HiE ¥
KR4, 5: i

KRG, 7 g T
KRS, 9:  LABEE

K10, 11: =vrsU—hI%
%Fﬂﬁ%ﬁ#iﬁ(&—{)uﬁétgﬂﬁé;n,(.b\éu |

Choose four out of ten parts and answer questions in the parts.

Part 2, 3: Structural engintlaering
- Part 4, 5: Hydraulics engineering
‘Part 6, 7: Geptechnical engineering
Part 8, 9 Infrastructure planning
Part 10, 11: Concrete engineering

Questions of each part are written in the following pages.
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Part 2 (Specialized subject)

L. 1R 2 EEERERO AB B S AR w MER LT\ 5, TARAR. V, =

1)

2)

Zwl, Vg = 2wl Ve = - THEXLND, ROMPEIEE £ & LT, KOS

BXIRE,
Answer the following questions about a 2-span continuous beam subjected to a uniformly

distributed load w for the section A-B, as shown in Fig.1. Under this condition, support reaction
forces are given V; = %WL Vg = gwl\ Ve =-— \:’—61. Note that bending rigidity of the beam ‘

is EL. -

Br

I | } l T
V4 Vg Ve

1 2R

Fig.1 2-span contmuous beam

B0 AB B AN HAH. MIFE—> bR ERYD, BR LS,

Calculate shear force distribution and bending moment distribution for the section A-B of the
beam, and draw the diagrams.

bR AEEAVEI LT, XARN VB ERERBZ L ERLESY,

Using a slope-deflection method, prove V4 as shown above.

[ “
T AB T A bA AN, X (1), @) okiricsgishd,
M 4p . "/ id o
(e /A) co O ITT LT ) cu
Y M gy o 4|A B%

2E1
Myp = ~(2914 + 85} + Cyp (D

2E!
Mg, = i(eA + 293) + Cpy’ )




[

. : 12
T T Mppg, Mg ddin®— A2 b Cap  Coa 1 TB D AMEIC L DMEE T, Cap = —WT2~
ThD, ' ' ,_
Note that the slope-deflection equations for a beam A-B are given by Eqgs. (1) and (2) where

M,p and Mg, are member end moments, Cyz and Cgy4 are fixed end moments, and Cyp =

wi?

127




K3 (FMFLE)

* Part 3 (Specialized subject)

1. EBICET 5 UTOMWCEZL RS,

Ansv\;er following questions of vibration. .

1) B R THAAASERTS | RAROEYLRRL, RO)THREND, Z0ES

FROEFRBMFE, X Q) BLY 3) TREND, Z0LE, UTOO~@DMWIZ
JRATREN,

An equation of motion of a 1-DOF oscillator subjected to a harmonic external force shown in Fig,

1 is given by Eq. (1).- A stationary vibration response of this system is given by Eqgs. (2) and (3).

~ Answer following questions @O - @.

mi+ cx + kx = Fysinwt (D ‘
- k c
X = (Fo/k) sin(wt - @) 2) o . L‘J
e ) ——
| I 1
o = tan-! ( 2k 2) o ‘ 3. ' Fg sinot
, 1-(w“’—1) 1 1 ERRIEBE

Fig. 1 I'DOF oscillator

O % Q). 6) KBt s, [L TEABREM, a0 LEAEE )P, Eh, IO
o1 DV THEIZ I L A2 &, |
w1 in Egs. (2) and (3) is given by ﬁ . What is ® called? In addition, explain o, briefly.

@R ) KRB (= 2me) BEEEREET S, b= 1| OREITEIRIN S 2%
AREWV, e, TOREHRED LS KB EMHEICHEA L 23,

h (= ¢/2mw1) in Eq. (2) is damping ratio. What is the state at 4 = 1 called? Explain briefly what
that state is. ' . ‘

@ SHIEB S0 TS ¥ & & ORESERIE X L HFNEL X (=F/k) Ot (BIRRE
B BLU(EAL, T FNH2BRUK3I DL HiZied, 20L&, KM2BLY
X3 o oFENRElRE 3 25T, ZOHBZSWTHEHB E L bHIZ, FAFR
50 FARME TR L2 &0y, '

A dynamic amplification factor, the ratio between vibration amplitude X and the static deflection’



Xo (= Fo/k) with changing the frequency w of the external force, and phase angle ¢ are shown in
Figs. 2 and 3. Explain three characteristic phenomena found in Figs. 2 and 3 together with their

reasons.

@ B2 BT, BRORERE (5= 1 ) BB 7 BomREE R,

2

J (1—(w—“’1)2) +(2hm£1)2

X2 &OBEFRTETOHEEHRALZ SV,

Obtain a condition of “@" that the dynamic amplification factor ( Xio = } is

maximized in Fig. 2. Explain its characteristics related to Fig. 2.

6 180
<5
o
o & _
S =3
h% 83 £ S
n & = a2
452 :
W oe !
g, 0
0 1 2 3 4 D 1 2 3 4
Rt o, : REHL ofo,
{Frequency ratio) (Frequency ratio)
M2 R @3 s
Fig. 2 Dynamic amplification factor Fig, 3 Phase angle

2) B4 AT 2@o—Ar0OkEHREOEHBHREHZRTEGFEAL, @D XS ITE
SEnB. TTT, m. mBEGh, kit. Then 1BR, 28 EOERS X URIKE
oL, HEIXRWHDETE, m=m, h=hDL&, ZO2E7—AOEFEH
¥, EHRDET— FERHREN, 2B, BEFRBT— FEETLTII L,

-Equations of motion of a 2-story rigid frame structure shown in Fig. 4 are given by Eq. (4). m; and
ma, and &y and k2 are mass and stiffness of the 1st and 2nd floors, respectively. Damping of the
structure is assumed zero. Assuming that mi = my and k1 = ks, calculate natural frequencies and

vibration modes, and show the vibration mode shapes.

(5 (5 -0 @



ky

mi X1
. R g
ky

X4 2@7—AV
Fig. 4 2-story rigid frame



KR4 (MRLA)

Part 4 (Specialized subject)

T oM 1~3 @L\ﬁ-m_%ﬁzp%?é L. UERTESEESELTHNAI L.
Answer the following questions 1, 2, and 3. Necessary symbols etc. should be defined before

using them.

1. FD X34, B 4cm 0/ AANBAN 10m/s DHE CEH SR, ZhMKFEZE
DRI HIREIC G720, 1200 i ShTna,. ZokE, UTFOMWvCEL L. 7«
7L, BEBRFERL, KOHBES 1.0g/em® & ¥ %. Asshownin the figure, the water
was discharged with a velocity of 10 m/s from a nozzle with an inner diameter of 4 cm. The
dischafged flow hits the surface of a i:urved'platf_: that placed horizontally and is bent 120

degrees. Suppose the density of the water is 1.0 g/cm? and ignore the friction.

(n Z @ﬁ:ﬁ%iié DITHER DO x HFHAES F, &K L. Calculate the x-direction
.component of force acting on the curved plate.

() "ZOREX X BDIBERAD y Flpksr F, 23R &, Caleulate the y-direction

component of force acting on the curved plate.
3y (1), ) TROICADEHDEE (8) &R L. Consider the direction (8 ) of the
total force that calculated in (1) and (2).

2. BETHEz=x+y BT, HFFEERT Yy VLV WR W=UZTEbIh3 2%
ERFVUAATNEE R B, ZORNBOWRORERDES . Sbic, ik
DERTZBEIRLARSY. 72720, x, y 88, (LREEN, UREE (RORK
T#é 5. Inthe complex plane z = x + iy, derive the equation of the stream]me of the flow
described by the following complex veldcity potential. Also,.sketch the flow ﬁeld. W= Uz,

where x and y are real numbers, { is the imaginary unit, and U is a negative constant real number.



3. BEOBREEEEZ S, BOMELLY b ECHBEAIE, BLOMEICLY Z
| OREOREENRETS. 20L&, ALOMEBORDHE L LECHRET S & iz,
BENEET S L& OED, RO, BEOOME B K. Consider the stability of the
floating body. If the center of gravity is above the center of buoyancy, the stability of the
floating body clepends. on the position of the metacenter. Explain how to find the metacenter in
sentences. Moreover, when the floating body stabilizes in the above situation, explain the
relationship between the center of gravity, the center of buoyancy, and the ‘p'osition of the

metacenter.



KR5 (EPRE)

Part 5 (Specialized subject)

UFORM I~ OWFhIcbBETH 2 L, LERATSSTERLTHNDZ L.
Answer the following questions 1, 2, and 3. Necessary symbols ete. should be defined before

' using them.

L. FO LD ICHIEE 41, 402 >OKEARAE Z (BRD, £& L, EEERS) T
RIEINTHWD, FHOKMEILIH TH Y, PAEOKMEBEL RDETORHE #
E9A. I0&E, RTOMWCELL. L, FOEEUNO=RLXF—HERIT.
EETE B HMDET 5. Asshown in the figure, two water tanks with cross-Sectional areas
Ar and Az are connected by a pipe Z (diameter D, length L, friction coefficient #). The initial
witer level difference is H, and the time until fhé water levels in both tanks become equal is #.

Answer the following questions. Note that energy loss except the pipe friction is ignored.

(1) F% ZNOFHE v 28 OEEIBKKE hy % AV THRE. Consider a flow in a straight
pipe Z. Show.the flow velocity v using the pipe friction loss head ;. '
(2) BEZOBEED % 4 LA, AIHBEL 22T TOMRMIL o OMHFICRS
AR K. When the diameter of pipe Z is four times larger, consider the time until the water
“levels become equal. Answer the time using f.
(3) WHAOKNIE H & 21T 5 &, AMINZE L B E TOMMIL o OISR S
AR L. When the initial water Aleve[ difference H is doubled, consider the time until the

* -water levels become equal. Answer the time using Z.

4,

|

(|

o —




2. KEBRAG | (—F) O—#RZEBERFFEEEARIZEW TKREDRT FHZEbH
KAWL VRENDEEREEZE LS. 5L, x ST HRERE, hi3KE, &35
AR, A IZRRKIETHS. i EZOKBORRAB L L, i<i, ThdLZx, UT
DEVIZZ 2 L. Consider a gradually varied flow in an open channel of a constant slope i

~with the uniform and wide rectangular section. The gradient of depth along the channel
direction is given by the below equation where x is a coordinate in the downstream direction,
h is the water dépth, h, is the normal depth and 4, is the critical depth. When { is smaller

than the critical slope i, of this channel, answer the following questions (1) and (2).

dh_ 1= /h)
a  1-(h/n)

(1) KL OEFEAIZL > TERDOD T, FROFE, SI5IZdr/dc DFERED LI
RipB0REER L THRHE. Create a table to show how the sign of numerator,
denominator, and dh/dx of the above equation change depending on the range of water
depth. '

(2) ZOWMEROBMY FHKEWOHRERFE L, EL, ZAFLONKERITIL
AWEDTTERE L. £, ZHLORPITIEKEERE, SRAE IURAK
TERTEBREZ ENENER L THE 42 &V, Sketch the possible water surface curves
with their names. Moreover, draw the straight lines that represent the channel bed, the normal

depth, and the critical water dépth separately.

3. WOWEEZ B, WEERCRARTILE O X > ICEHT 57, Bimd L,
Z DY A FEAE X, Consider waves in the ocean. How do water particles move in- the

shallow water region? Sketch the particle motion and explain its characteristics.
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Part 6 (Specialized subject)

[1] UTRBEMEHOE L, BEICE U - o 2RIA LTS LU,

Explain the following terms. You can use illustrations and/or equations if necessary.

(1) SR

Coefficient of passive earth pressure. : ,

@) Fvu—F 4T Lk
Preloading method.

[2] ERESRL L BESES T Zh2hicst LT, ok
B L CURB A ENT 5. EAMTEROXRE O RS
i, BPOLOTRENTRY . BAETELVE
—EEMTIT S, 2B, & HBOTH, e ITMBEEL ,
Thb, £ir, pREREIES. qEFESHTH Che 7
b, BEMAIS 0., BHRGE e ERWTY =

(o] o

EIJ D

Lo Ea P’

%20 g -l REND, UTOBVICER

3

CD and CU tests are carried out on normally

consolidated and overconsolidated clay samples. The state of each sample before shearing is
indicated by circular and square symbols, respectively, in the figure. The samples are sheared
under constant cell pressure condition. &, is the axial ' ‘

: fon 1 (Figure 1)

strain, and e is the void ratio. p’ (= %2@) is the mean

ef‘fec_tivé stress and q(= o, — /) is the deviator stress, where o’y and o, are the effective axial

and radial stress, respectively. Answer the following questions. '

(1) CORBRICB T S EHESHT L BEER L OTABBROREIZ >V T B LITRT LD
L BRI 7ERVCTEEMICERRAT L,
Ilustrate the shearing behavior of normally consolidated and over-consolidated clay samples in

the CD test qualitatively using the graphs as Figure 1.



(2) TURBRIZ B ZEREERLT L BEES L OTAREDIREIC YW T, B 1IZFT LD
275 7 ERGWTERMICERBEE L,

Illustrate the shearing behavior of normélly consolidated and over-consolidated clay samples in

the CU test qualitatively using the graphs as Figure 1.



X7 (HPIRA)

Part 7 (Specialized subject)

1] BT OB R L, SECS CTE. - SRR LTS Z0,

Explain the following terms. You can use illustrations and/or equations if necessary.

W 7477 1— o
Quick clay

2) FFEXFAH

Allowable bearing capacity

LTIB A B 3THI - 25T L CHE 25 0 8 30,000 m?, HEEASY B S 4.0 m DR EHER L,
MEFREEICL DV TRT 5, BElLEEKEE w =120 %, BEEEL=1,900 kgm® THO, F
B DR THIE R IR wop = 18.0 %, B R ELRT I puinax = 1,800 kg/m® 2487, F£7, HEE
KL THEE S 7o 3 LIt A A BHEST B ¢ = 30°, #5%E ¢' = 0kNim* Th oo, BB, KDE
Ep, = 1,000 kg/m®, TAMEE g=98m/s> TH 5, UTFOMOICER L,

An embankment with a final ‘volume of 30,000 m® and a height of 4.0 m is constructed using

2

—_—

excavated soil from a borrow pit and supported by a vertical retaining wall. The water content w and
the wet density o of the excavated soil were 12.0 % and 1,900 kg/m?, respectively. The optimum
water content Woy and the maximunr dry density pdm; of the soil were derived from the compaction
test as 18.0 % and 1,800 kg/m?, respectively. The excavated soil compacted at the optimum water
content had a shear resistance angle ¢’ of 30° and a cohesion ¢’ of 0 kN/m?. The density of the water is

1,000 kg/m® and the gravitational acceleration £ is 9.8 m/s%, Answer the following questions.

u)@iu%ﬁ%*wtméx5t%#btﬁ57mF—ﬁ—m;@%@bf‘%mﬁﬁm=
1,800 kg/m® 2457, +TUEN LIBHT REBHI & L KT IROEREEZETNEFRARD &,
The embankment was compacted using bulldozers with sprinkling water to have an optimum water
content, and a drying density ps of the embankment of 1,800 kg/m’ is achieved. Determine the

necessary masses of the excavated soil from the pit and water to be sprinkled.

2) HEBEOMEIT g = 294 KNm® DESTHESIEMT 5 & &, HEIERT 5 EHLED
K& S LIERAADEET IR L OEREZRD L. 2B, SAKIEHEDR, ELLTnan
bDLT B, ' ‘

When a uniform load g of 29.4 kN/m? acts on the backfill surface, ﬂn_d the active earth pressuré and
its distance from the base‘of the retaining wall. The water c;mtent of the backfil is assumed to remain

constant after the compaction.



KR8 (HPIRE)
Part 8 (Specia]i;ed subject)

AT D 3RO T2HEE L. Answer the all questions from 1 to 3.

1. UTORCFRTLIR, TEXEY THREIND BIOT B3, Y i X THE
EIfELicRE, X &Y ORTHEE (MIAUTH 202 T) #RDAREL.
About the data shown in the table, calculate the linear regres:sion equatioﬁ of Y
explained by X. Then, calculate the coefficient of the determination of X and Y (to the
second decimal place). '
X -2 -1 0 1
Y 1 1 2 B

2. LTORFEIC>WT, #ITTiHY L. Explain the following words.

(1) FRRASEEYEERE & 2 EHH#E  Time-mean Speed and Space-mean Speed

(2) FEREEREHT BT BT Transition Curve in Road Design

3. D\TUDF&E}V WZ& X &, Answer the following questions. .

EEHIEIC X2 BNBHOEREHAL, FEOVA 7AVENELTIEHA 1| Gbib
DEERBENIFRIL L S B+ 52T L, SECSCTHEHER LTS LV, Explain
the deﬁm’t?on of delay. in traffic signal control. Then, explain how the average delay per véhicle

changes depending on the change of the signal cycle length. You may use an illustration if needed.



A9 (FEMHE)

Part 9 (Specialized subject)

LT 2 FnEIf;Dé'C R4 £, Answer the all questions from 1 to 2

1. UFOREOVT, BITTHEY L. Explain the following words.

(1) FrRFE—F—a ¥+ w7 Transportation Gap

@) ZBEAFR Traffic Cell System |

2. PUFORWIZE Z & Answer the following questions.
(1) 7% % F 2 bA— MoBEW T, ABICHETT 2 BRI 2RI & L
T, FOL3 R EBIBEEINEONHP LA SV, Explain countermeasures in urban

planning against auto-dependent society in  “Traffic in Towns,” called The Buchanan Report

() TBESE) & TS OBWEBHA L LT, RAAKRBROFEAHATI BN TING
DOEZXFBED L IIENGT oI, FLDEZERXFTITEIERENIED LS 72t
DEE D IAENT- DO EFEAE L, Explain the differences between  ‘disaster prevention” and

“disaster risk reduction.” And explain for what purpose each idea is used and concrete
countermeasures based on each idea in the reconstruction plans of the Great East Japan Eaﬁhquake

and Tsunami.



K10 (BEMPEA)

Part 10 (Specialized subject)

Fig. 1 {ZRENBIEQMITE— AL b &S DEERBFRFEEIE DL D IOV TRO M
WEER R, 3V Y OEBREL £ 24Nmm, 322 U — kY SRR
E~25KN/mm?, $575 OFERIRES L £, = 350N/mm?, SR 2 Z 43300 £, = 200kN/mm?
THD, b=300mm, d=600mm, d=50mm,h=650mm, =7 Y — rDOEHFKEGT
A2 00035 L35, TOMOEFELEITISCTHEERL THNS Z E,

Concerning the doubly reinforced rectangular beam subjected to positive bending moment shown
in Fig.1, answer the following questions. Compressive strengtil of concrete f;” =24N/mm?,

Young’s modulus of concrete £=25kN/mm?, Yielding strength of re-bar £,= 350N/mm?, Young’s
modulus of re-bar £,= 200kN/mm?®, b =300mm, J=600mm, &=50mm ,A=650mm, and
the failure strain of concrete in compression is 0.0035. Other necessary symbols can be used with

appropriate definition.

T

(1) EHEERM As=0mm? T, 3|8REMH 4=2000mm? & ¥ 2, DL &, ZOWESIHET

BEOE—AY bERD X, HETIHROEELT TR,
Assume that compressive re-bar As’=0mm?2 and tensile re-bar 4,=2000mm?. Then,
obtain the moment when this section shows failure.lAll the assumptions for the calculation should

be explained.

(2) JEHEgkfs As=T7000mm2 T, JIIRELHD 4,=7000mm? & T35, D& &, Z OWFHEAM
BTamos—2r ek X,



Assume that corﬁpressive re-bar As’=7000mm? and tensile re-bar 4,=7000mm?. Then, '

obtain the moment when this section shows failure.



K11 (FMFE)

- Part 11 (Specialized subject)

WOBEFICS>VTHEAE L, BE, BHHOLDIIREAV L,

Explain the following words. You can use appropriate figures for explanation if necessary.
(1) Fvrviravkh it'. PC ' Pretensioned prestressed concrete
(2) EIEF ‘3 A %‘@ ' Modified truss theory
(3) #Fvx/{EH Dowel action
(4 ATV — Consistenby
(5) ASR O#fii%t#  Control measures for ASR

(6) =K HBHAE BT Epoxy-coated reinforcing bar
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Cautionary Notice

Do NOT open this booklet until the start instruction is given.
Use your black pencil to write your answer.
Your answer must be written on your answer sheet.
Write your applicant number in the cover pages of this booklet and answer sheets
This booklet contains mathematics questions and questions of five specialized
subjects (structural engineering, hydraulic- engineering, geotechmcal engineering,
infrastructure planning and concrete engineering).
Answer mathematics questions. And choose 1 out of 5 specialized subjects and
answer the questions.
You can ask the instructor to exchange thls booklet in case of sheet missing,
disorderly binding or unclearly printing,
Use the blank sheet of this booklet for draft writings.
You may NOT take home this booklet and answer sheets.

' You will NOT be allowed to leave the room until 70 minutes have passed from
the beginning of the examination. 3
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Mathematics

wORE [1] [2LI3]BME IV,
Answer the following questions [1], [2] and [3]

f1]

D y(0) = 1, 1(0) = 0ODEMHDE & T, fk&ﬁjﬁé‘t y' —2y —8y = 0 @ﬁ?;kﬁ@&
R LK.
For the differential equation, y” — 2y’ — 8y 0, finda particular solutmn
satxsfymg the conditions, y(0) =1 and ¥'(0) =0.

(Z)ﬁ%iﬁjﬁ%it y' —y= 3sin O—fEERD K.

For the differential equation, y’' —y = 3sinx, find a general solution.

[2] PLTOFTFIREAINE 5 230 EHZ & IEHAT5 ’Eﬁk&but
Examine whether each of the following matrices is regular. If it is regular, then,
calculate the inverse matrix.

1 2 3
1)[234]
3 4 5

(3] AR TD LT3R ORET. B(xy) = 2% +y 2T X,

Integrate the function, f(x,y) = x2 + y?, in a unit circle centered at the origin.



HEE

Specialized subjects

W95 48 (BT, KT# MBI LAHER =27 J— T OFbb198E
BIRLZOMBEEMETS L. A - .

Cheose 1 out of 5 specialized subjects (structural engineering, hydraulic engineering,
geotechnical engineering, infrastructure planning and concrete engineering) and answer the
questions. ‘ )



TR

Structural Engineering -

CAToOR1 &2 Lﬁ?%‘:'?‘é c‘: M%&‘Evli$ﬁ?kﬁ% L'Cﬁb\é &,
Answe1 the following questions 1 and 2. Necessary symbols should be deﬁned before using -
them :

1

1)

2)

3)

KO D~NCELRE .
Answer the followmg questions 1) to 3).

?JJ’%H DEWIZHITS ﬁﬁ%ﬁ@ﬁﬁ:’ & EARBORE Lo» \’C%‘E%-ﬁ:é:
Explain the plane sections remain plane assumption and the perpendicular secnons
remain perpendicular assumption in Euler- Bernou]h beam theory.

S 1iIZFETLD Euﬁ?ﬂtiﬁﬁ H AB U)zzﬂ’/ﬁF%#u%‘PﬁEP%'{’ﬁﬁ ERFLE, ANVH
R OUE THICRAET B3|HTEEHERD J: BHISTRIT 0 ONm LA RIE—HKT, BEm
Sa, EB2aDER, v/ IRERELTS.

Calceulate the tensile stress at the bottom surface at center of the simply supported beam
AB when the beam is subjected to a concentrated load P at the center as shown in Fig. S-
1. Assuming the cross section (rectangular, height: a, width: 2a) and Young's modulus E
are uniform across the span.

| | P 2a

P 2L 2$: 2L ‘4 | e“f——*
A — 2 “$ +

A SR B

Cross section shape

S-1, WEE% H‘éﬁfﬁﬁiﬁ}i"o AB
"Fig. 8-1  Simply supported beam AB subjected to a load

BASTRE Y AB ICER SRR EPERVERE, ENDOANRVFRTEDS &5 ICEH '
FRIEY AB ZEBIRID CD IC & - THMERE L, BTy CD Orme# R
—#T, BFRIIH Ea, BaDEW, YV IREIZEETA. 0F, BS2EFRTL IR
PRICHEUVEPHEPEIER LD L &, ﬁﬂﬁﬁ#?ﬁ D AB (Dﬁj(t:bé&& BEFRIED CD
NHEZITIRAAERD L. '

After vemoval of the concentratedload. P on the sImply supported beam AB, the simply
supported beam AB was elastically supported by the simply supported beam CD so that

* both beams cross at the center of each beam. -Assuming the cross section (rectangular,

height' a, width: @) and Young’s modulus E are uniform across the span of the simply
supported beam CD. Calculate the maximum deflection of the simply supported beam AB '
and the reaction force from the simply supported beam CD when the concentrated load P
is given at the center of the simply supported beam AB again as shown in Fig. S-2.



Y
a

A\

ES2 WELBMKRERTSEMEHTY AB |
Fig. 5-2 Simply supported_ beam AB supposed to a load and supported by beam CD

Cross section shape



1)

2)

3

88 KRT 2 BT —2 VIOV TROM D~DEBE AR EV. EL, EEBALHT
BHAHLTDH. Ei, B0 REE, RIS Had, EBOKERMERE2kET S,

Answer the following questions 1) to 4) about a two-story frame shown in Fig. S-8. The
frame ends are rigidly embeédded in the ground. The beams and columns can be agsumed

-to be rigid bars and elastic bars respectively and the lateral stiffness of each story is k,2k.

m

. > Uy
k 2m |

@ > 1y
2k
7 b

RSB 2EWI—Av
Fig, S8-3 . Two-story frame !

Bt b U 2 AKE KB~ P 7 AMBRO L S ICRT L&, det[K — o?M] = 0288V CEA
FERE oL RD K. _ '
Solve det[K —w?M] =0 and debermine the natural frequencies @ of the system, where .

k=[% 2] M [zm )

K- wiMlp = 0 b B BRI SIS B B b;vqs%:kab.,t tﬁ.b, l?ﬁ‘f\& M«p

R ERN 1 L 2D LD ICRER L.
Solve [K—w®*M]¢p =0 and determine the elgen vectors ¢ 50 that the normalized mass
becomes one.

HEEENciET 3 1 ke— F& 2RE— FOE— FW%@T-H:J: E LB R DK RN
Uy, pEmEHVTEL L.

Draw the shape of the first mode and second mode of natural vibration. erte the lateral
displacement uy, up in the figure using m. :

B TERLE L KE— R 2 Re— FRAERLTNS - & £IEHE L.
Prove orthogonality of the first mode and second mode you drew in the question 3).



KIZE |
* Hydraulic KEngineering

UTOBRM 1I~3 DWTFRICOARET D2 L. LEREEREZELTANSZ L. -
- Answer the following questions 1, 2, and 3. Necessary symbols should be defined before using them.

1. , . - |
RO (1) H5 (6) IT& XA &V, Answer the following questions (1) to (6).

(1) 2208kt (REOKSDERH £ T3) FEEDDE>T CRAETHERT S, =
DEEABENDOHMBQIZEDL IICLTROHB P TELIHIUAR L. SbIT=HAF—
B BANEREEFE L. BRI L THELERHE B2 R CHIRICET = &

Two large reservoirs are connected with a straight circular pipe with the diameter of
D . The difference in height of the water surface levels in the reservoirs is H . Explain a
* method to obtain the water discharge @ in the pipe. Then, draw a hydraulic gradient
diagram and an energy dlagram with the mformatlon about necessary properties in the
diagrams. -

2) FHICE Y POMOEEMRT, ERICHBE p OREEKE 2% T TAR, Al
.#i%ﬁp,wﬁfdi%z‘(ﬁhif]\nte A, IEKRIZEE SR TEE L TRE L. \_CD
L&, p R BRVTERLRED. RFL, 8%5@%@%%&L1m5%®&fb

. ' The water tank was separated into two parts by a board with 2 hinge attached to the bottom. The-

- left side (water depth 2/) and right side (water depth /) were filled with the liquid of density g, and
P, , respectively. Describe p, using g when the board was standing as a strait upward. Here, both
side of the water was not moving, o C

(3) #RUNO@F#@@@%Wﬁbiﬁ%ﬁotF%,ﬁﬁ%k%PTﬁSmh®ﬁﬁ#
b, FRETRVW bOEEZEL T Ve L k.

A 1/100 scale of the dam model was created, and overflow experirhents; were conducted. In the
experiments, the overflow velocity of 0.5 m/s was measured. Con51der the overflow velocity in the
prototype of the dam.

(4) AROL > R BFHFEAKE, K& 15 ms D 3
KRBTV D, KA =08 m DBEOLE=FNF— .: 15m e
E, 70— W& FERD, REPRTESEZHFE L. &

L, kL, EJMEERXg=98m/is &5 5. N

A
b A

]

0.8m

Consider a uniform and steady water flow with a
constant discharge Q = 1.5 m®/s. When the water depth was
setas 0.8 m, suppose the specific energy, £, and the Froude number, F,, and judge whether supercritical
flow or subecritical flow. Suppose the acceleration of grawty is 9 8 m/s,




(5) ARETOER¥E %ﬁﬁ%ﬁ%ﬁwéa mﬁﬁﬁaﬁﬁfr/v#»mbmwﬁwﬁﬁ
&ﬁﬁ?é%ﬁ%ﬁﬁ&#&f%é
o’ = gktanhih
I, wldAREE (o=24/T), kid# (F=22/L ), TRECHH, LiiEk, hii?k
ﬁ, g EAMEETHS. ORD EREROWR L &FHE C OELRELET.

The dispersion equation was derived by equations of the water surface shape and the velocity
potentlal usmg kinematic boundaxy conditions on the water surface.
: o® =gktanhkh .
Here, @ is the angular frequency (@ =27/T), k is the wave number (=27%/L), T is the wave period,
L is the wave length, g is the gravity acceleration and 4 is the water depth. From the above equation,
derive the approximate solutions of wave length and wave celerity, C, in the shallow water region.

(6) TAHICI T 5 WD 2 M HOMBAI VT, MHOEOCER LT~k

‘What are the points to keep in mind when considering disaster prevention against tsunamis and
storm surges in Tokyo Bay? Answer this question cons1dcnng thc difference between tsunamis and
- storm surges in the bay

2. '

KR EDO—BIE L OB FHWEABI R BRERZE 25, BEL, BEOERODK
T h=h, H#EE v >0, HROKIEE h=h (<hy), FHEEEv, G0) L55. ZOLE
CELIEEOGIEEE c koW TELD, REOCHBERALTDarbtu—AR) a—
BICEE L, BEEE c CHETIEERP RS & ZOBEIIHELTRLD D E2EIA
LT, B (1) ~ @) KERE. L, KOBEL ), ENMEELgET5.

Consider a bore in a horizontal and straight opeﬁ channel with a uniform rectangular section. The
left-hand side of the water depth and the velocity are 2 = /1 and v (> 0), respectively, and the water
depth and the velocity at the right-hand side are 2 = A2 (</n) and v2 (> 0), respectively. In this condition,
consider the propagation velocity of the bore, c. Set the control volume from upstream and downstream
" of the bore, and focus on the control volume. The bore seems to be stopped, when we looked the bore
from the moving coordinate system that moved with the propagation velogity, ¢. By using this movixig .
coordinate system, answer the foIIowmg questions (1) to (4) Suppose the density of the fluid i is o, and -
the acceleration of the velocity is g.

(1) =¥ bR Joo— b OBERE 2T
* Draw a control volume of this situation.
(2) EEAERD .
Derive the continuous equation.
(3) EEEAZRD L.
Derive the momentum equation.
(4) B OEIREE ¢ RO &, £EL, nEBDWLETHI L,

Consider the propagation velocity, ¢, of the bore using vi.



3. . . ' .

TROL>RFEE4m, E3m BETnm BOEI(3mPay V—lohEsr—Y
VHBHS. KICEHRTREOERMEI SV TRIMT S, FLKEFE 3 fT2 LT (1) ~
@) Iz X L, ENMEELg=980m/s* &L, K, =27 )—bm%ﬁm%h%
#1 1000 kg/m®, 2300 kg/m® & 5. ‘

A-hollowness box caisson i floating in the water, as shown in the below figure. The heightis 4.0

. m, the width is 3.0 m the length is 7.0 m, and the thickness of the caisson is 0.3 m Answer the following

questions (1) to (4). Suppose the acceleration. of gravity is 9.80 m/s*, and the density water and concrete
are 1000 kg/ni® and 2300 kg/m3', respectively. Answer the values with three significant digits.’

TTTATTTIT T ¥ T
. 1 t I I
v 1 5 i .!
e 1 1 ] T
= 103 m 0.3m_ i 10.3m 0.3 mi
) . 1 4 ! i d
1 I 1 !
1 I - ]
Vole- 03my _ i L= L )
------- ‘ ———————— —enYeil =0
3 T ! T X
| 30m ' ! 7.0m ;

(1) % oKkiEd BRDE.

Consider a draft water depth, 4.

@2) PESF—IVDER (=0 HOR-TEDL G OUEd 2RD L.

o ‘Consider the position of the center of the g'favity, dg, from the bottom surface of the caisson (z=0),
() FES—Y VO (2=0) 2R C ONR de 2R L.

Conmdcr the po sition ofthe center of the buoyancy, de, from the bottom surface the caisson (z 0)
@ BELG &{tﬁfuM@EEﬁE%zﬂWb REr—Y OREEEE L. _

Consider the distance between thc center of thc grawty, G, and metacenter, M, and answer the -

stablhty of the caisson.



Y
Geotechnical engineering
FARTORPITER L. Attempt all questions, .
ﬂ\?k’;ﬁﬁ U CHEEIRREZIRIT &. Make suitable assumptions wherever necessary.
1] UTFiFRTRAEERATL, LECSCTR - FHREFALTH LW,
Explain the following terms. You can use illustrations and/or equations if necessary.
(1) AV VAT I —RA Consistency limit
(2) B MRS/ Consolidation yielding stress
-(3) &M E7KEE . Optimum water content
(4) BIBK B Critioal hydraulic gradient

(5) BEAZIR  Group pile effect

[2] TEEORMEICE Z X, Answer the following questions.

(1) BRI B EOCAFRBRY — %, TRENOHRERBE L. |
List two types of laboratory shear testing methods for soil, then briefly explain those testing methods.

2) BOEBEORMILTRERT T 5D, EHRBRBROMATEE 3 2B~ &L.
Describe three application methods of consolidation test results to estimate the final consolidation
settlement of a shailow foundation. '

3) LOBAFEEERD bIDEARBFES 0%, ThENOFEENAT L.
' List two laboratory testing methods that can estimate permeability coefficients of soils and explain
each method.



Bl TR LD ICEE EeS— R LT ADRHER S 0, MM EEEN D 10m O
EEIChHS. UTFOMNELZE. 23, KOBMERERy 1210 N & LTEY,

As shown in the figure below, a uniform sand layer is deposited on hard bedrock. And the depth-of the
groundwater is 10 m from the ground surface Answer the following questions, The unit weight of the water

¥w is 10 kN/m®.

(L) BE» 5 R0 & ) ICHREERR L, REEZNHRE 150kPa CEFEHETY, £
DEBIEFIKEECEAEITofe, TOMR, BEIST 200 kPa THEEIIECE .
7, E&ﬁﬂfmﬁtﬁﬁi*w&é L7 BRIBABRKEE DS 50 kPa T ok, ¢=0kPa &{REL,
' DEZRD L. ! .
A consolidated undrained triaxial compression‘test was conducted for the undisturbed specimen which
sampled from the above sand layer. After saturation, the isotropic consolidationi with an effective
confining pressure of 150 kPa was performed, After that, the shearing was conducted under the_
undrained condition. As a result, the specimen was failed with deviator stress of 200 kPa, and the
excessive pore water preésure generated in the specimen at failure was 50 kPa. Assuming ¢ =0 RPa,
find the value of ¢, o -

@ TROLS K EBOELDETHE TREL, 8% 10m il Ly, TEDEOREM

EETERENIMb S LEDREFANKHEZHT. Tk, WEINLEFTBTHLTIO
BT EATICRT B LEAHERBER L, XL, FUrirorERRIC s THAEY L.
As shown in the following figure, it is plarined to install the retaining wall till the bottom of the sand
layer and excavate the ground to the depth of 10 m. Draw the distributions of the earth pressure along
with the depth, which acting on the retaining wall from the excavation side and backside separately.
Then calculate the resultant force acting on the retaining wall for the unit length of the excavation
side and backside individually.

(3) QDRERICESE, LHHEOEEIC PO LM TMOE L.
Evaluate the stability of the retaining wall for rotation, based on the calculated result of (2)

BMEMAEHEER » =160 KN
MM EAEERER po =200 kKN/m
Tatal unit weight y: =16.0 kN/m?

Saturated unit weight ys«t =20.0 kKN/m?

10[m]]  gH

(Excavation)




M4 FRIERTE e, ETEERHLADECHRENEE 20n OERESSEREHS. =
DHAICHF 20 THODE, DA AEIC S A LRI ER, TRODEOMMBAER—
BRIC S0kPa (ITIE T L%, BBIREAMERHICEL, TOEBRBRTELILOLLT, UTO
RIVCE R X, A3, $EBIONT, BRTOLE G=238, MBI e=1.0, EMIRKC=05,
WA Co=0.1, HTAL ZETHIRERERRETH o, ik, BBISVT, BHFOM®
BEG =26 [MMte=06547%. K@Eﬂﬁﬁﬁﬁﬁ%VJDHWPkfiw ma@44ﬂ
log,,4=0.602, log,,7=0.845 )

A 20 m-deep clay layer lies in between two water-saturated sand layers, as shown in the followmg figure. A
well is embedded upright into the bottom sand layer, and the pore water pressure of the botiom sand layer is
uniformly decreased to 50 kPa quickly. Answer the following questions, provided that: the sand layer has
substantially high permeability, and deformation of the sand layers can be ignored. Specific gravities Gs of
clay and sand are 2.8 and 2.6, respectively; void ratios ¢ of the clay and sand are 1.0 and 0.6, respectively;
compression and swelling indices of clay C. and C; are respectively 0.5 and 0.1. Assume that the clay layer
had been nomally consolidated before pumping up groundwater. The unlt welght of the water wls 10KN/m?. -
(105103 =0.477, log,,4=0.602, log,,7=0.845 )

ﬂ)m?*%%ﬁh(#iﬁtﬁ%®%EQMﬁ %Eﬁﬁﬁﬁ M AE DA & Bme X
Assuming the water level in the well has been lowered quickly, draw the distributions along the depth
of vertical total stress, vertical effective stress, and pore water pressure immediately after the pumping
up of water.

@) HTFAE < BT CFHBREOMBKEN 50 kPa L FA o TRMMHR S EREOR
ME RN AR, SREARIES, MBRKEOSMERRE L, &, £OLEHREOEN
BEHAT L. miﬁ%&&wﬁﬁw%erﬁiﬁﬁ%aufaﬁﬁtﬁ—%wéurw‘
BEHRLTEN.

Assuming the pore water pressure in the bottom sandy layer is kept 50 kPa for a substantially long period,
draw the final distribution curves of vertical total stress, vertical effective stress, and pore water pressure.
Caleulate the ground surface settlement. When caloulating the amount of ground surfece settlement, it .
can be considered that the strain in the middle of the clay layer occurs uniformly in the clay layer. '

(3) HFARDL HLETERDBZ LIZE o TTHOWEOMBAKER & LW RIOREE CEE
L. 0%, RGBS L L SHBEATIREORERET S15EE L. XL, MR
SR LERE»OER L2V D LTS, EERONN {rx_[!%‘ L’Ciﬂf:‘ijﬂ@ RROWF A3
%“E:[:E“fﬁﬁué LT3 ERR LTI,

The pore water pressure in the bottom sand layer is recovered to the state befors pumping by stopping ’

pumping. Calculate how much the ground surface can rebound. Assume the void ratio is not changed

from the initial condition. When calculating the amount of rebound, it can be considered that the strain
_in the middle of the clay layer occurs uniformly in the clay layer. .

FF Well
. N
s g .......... [ e T R
if@ﬁﬁﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁﬁ@&ﬁﬁ
zofl $id Clay
"‘;F IRERRARH | BEEHARERS SN RE:
e gl L g
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Infrastructure planning

JA'FCD 3 Fﬂ@éf%ﬁ@ﬂﬁ'i Answer the all questions from 1to 3.

1 UTORERTLYR, TEX LY TRBEANASHEOF—FIRHD. %ﬁ*‘ﬁﬁ@%ﬁb\t
T, Y2 EMNEE LT3 X0oBHARRERDR I,

About the data shown in the table draw the d1str1but;10n of the data on a scatter gram,
Then. calculate the linear regression equation of Y explained by X.

X -2 -] 0. 1
Y 3. 0. | 0 0

2. LNTOH %h.ob VT, FITTHIAR L. Explain the fo]lowmg words
W ﬁ’ﬁﬁ%ﬁ@ﬁﬁfﬁﬂ? Interaction Effect in ANOVA

(2 VAR IREF Ribbon developlment |

&) 7i‘ K=Y E  Havssmann's renovation of Paris

@ .7’5? ¥ Frvf— I\ CDEEﬁﬁﬂﬂiﬁ Environmental Areas in Buchanan Report
(5) ERE+HEAEZTER  Standard desigJ.:L volume

® _E%ﬁﬁaﬁﬁtﬂ’o‘ﬁ‘ Z)%JE?BE Starting shockwave. ata siénalized intersection

3, LATORWCE X L. Answer'the followmg questions.

(1) HHOATR—iz LY FlEHT SNBEELBE LREN, zﬁuaw%%ETétbk\
AFY ADRY ROCHEA SN, ZORMOETHEASRERIEF BRI EELR S
V',  Explain the problems caused by urban sprawl. Then identify measures applicd in London, UK,

and other countries to prevent urban sprawl.

2) EBERIRO 6 DORAIEHA L ABHERRA RAOHAHMBIC L0 LS IWEA S WD
D72 &V, Explain the core six principles of the neighborhood unit concept. Then explain how
the neighborhood unit concept has been applied to urban development projects in Japan.

B) BEFBE~RXV AV NOBRETH, v—F 7 4 V/RKTORY EAPRBBEZRNOBER -
REEBLEDIATVS, BEEE-RUA Y bOEELIA L. BE0RES L LTab
héﬂ“?T/F74FhomT EONBEEBRBLELET, =77 4 L P RATORY
ARS8 & UM B E AT DIER D4 MR HIR L7 &S, Explain the definition of TDM (Travel

~ Demand Management)'. Then explain what is Park & Ride as an example of TDM and discuss the
possibility to apply ma’rkeﬁng aspects and utilization of information and communication technology to
 Park & Ride. ‘ |



(@) HHERICZBEERN 2000[E/ME)OR MRy 7 BH

D, ZOB MRy 7 ~OBEKEBESEROL S I
RENTND, ZO&ERETIRMIPRHET 5HA
L. BT X BRBARMERD X,
There is a bottleneck (capacity: 2000 [veh/h]) on a highway
and the arriving traffic demand was observed as shown in the
figure. Obtain the time when the congestion vanishes and the
amount of th_e total delay by thi§ congestion. '

Lrvehidy

2.400

2,000

demand

i

capagity

1,800

1,200

:

r 1 1 y
600 F OO B.00 9:00 10.00 11-00 I2.00

time

(5) 5 DY F7AY MEoWT, T OBHLEEBITENSNS L5 CHT, Er—RARES
" RESLEBLEEEOT UL RTAY FOFEE 3 AREY X, Draw arough sketch of a
';oundabout__ intérse‘ctiop by clarifying right-of-way inside it, Then, enumerate and explain three

advantages of roundabouts compared with ordinary signalized intersections. -



ay2)—pITR

Concrete Engineering

FARTORICE R k. SEREEHHEERS X bRTVWIRO LB LB A, ToMESH
ErE#E L ECREEPED T I, Attempt 2] questions, Answer the following questions. If you cannot
find any required characteristic values of materials, you may solve the problems by defining them,

1. $kfFE=y 7 U— M@ H%E Mechanics of Remf‘orced Concrete

H 1 RSN BROME-HELEHFETOLBIRELY GIEREHE LTTHlIC D22 ’5: 3 A%
+DI0 D UBRE—F »7). D22 DAFTERIE 387.1(mint), D10 OABBIEREE 71.33lmme]
G %. Cross section dimension and bottom reinforcement and stirrups are designed shown in Fig.1. The area

of D22 and D10 are 387. I[mm ] and 71 33[mm?], respechvely

) P N
P P
. \]{ - & | 300[min)
E B c ; [ 550]mm]
hI A ; b d T soU{mm]
- 3 A hid Se JOMmmr]
I3 J 3/ TN R x TN 1 As - 3xpa2
/ I} RA P, B 295)Nmnr]
€ Aw D1g (Us=shape)
(Ea(ila» q -

Fig.1 Side view and section view of réinforced concrete beam

O = vy PESY BRAET I TABTHS Vc[kN]E‘*&bJ:
Bn=1.0 & LT L
Calculate shear capacity. owing to concrete, Vo[kNI, with
+ assumptionof Ppo=10. |
() oMz, RF—7F o7& LTEE Do B
C s200mm] CEE L THD. AF—F o TRARTIZE
DTED BKNERD & SREFOBRRIEE RO 5 &
T3, -
The stirmip is made by D10, and spacing is e=200{mm). Calculate
shear capacity owing to stimup, V5[kN]. The yielding strength of
reinforcing bar is it _
@) I=45[m), P=1500NIDIES, OREELZY, OmiFRkET

Ve = BaBybn foc* b d
foe = 020377,
Ba= W
8, = Y1005, p, =2
%= (Aw’fy'z)/s
¢ . z=d/115
V= U+

D, @EAMREETD, OVWTIMEREY, £OERBEPHIE L.

Assuming I=4,5[m] and P=]50[kN], chose the beam: state from @ to ® (Oro failure, ®‘bendmg faﬁure @

shear failure) then explain the reason of your choice.

& BIELS LB OUENE AFT T ORBAREY, RONEREHN L,
Draw the predicted ctack pattern of this beam and the optimum arrangement of stirrup on the side view.
G = cf)%*@%&é NAEWMEIDOLBEROS T 7 2HE, @TH LizOUEI o E LDy

Drawagraph ofload versus deflection of the above beam, showing the pomtwhen ﬂte cracks thatyou draw happen,

on your graph.



2. =vy Y — O Properties of concrete
LOEFCICELTEX X,  Answer the following questions.

2-1 JE¥EERIIT (D—1 O%E) THEa 7 V- M OEBBEREITo LI Rko 7”._ You are the
designer of: reinforced concrete brldge at Asahikeawa-city, Hokkaido (marked¥ in Fig.2-1)

() BAMEOETHX bR DM X CEOEREFIEE L.
Explain possible concrete problems and their reasons in terms of durability.

@) WY CHITERAECRERARRT D0 ¥E, OMPLEE, ®EEA£3+ @%ﬁﬁ%‘ﬁ '
DEERCERERMRICER L. .
“Bxplain your solutions against abovementioned problems.ﬁom the view of @matena] selection, @mix

proportion, (Pmaintenance in service time
¥ myd U IS T=2d Y- mw"r:i:-raf-z b 19 ERE) *2 RIS (e XA T

22 Flyiazisd U —h Fresh Concrete
‘3% 1 OESRFIZ TRLEKY 29727, Trial mixing based on table 1 was conducted.

F1 =2 ) —OEEF  Table 1. Mix proportion of fresh concrete

Gmax | RAF7V7 | AKEAV M [ w8k sfa: BAATR unit content (kg/m®
(mm) | slump | watertocement | arcomtent | &) | & | EwAMF | MEH | ABEH | BRA
(em) ratio (%6) % | water | cement sand gmvel | admixtre
20 | 12 50 5 4475 | 178 356 773 972 0

1) WiENA P T PR MEF odinary Portland cement used
sfa: HEEEER sandiagpregates volume ratlo, Gmax: SR OEI~TE Maximmum size of coarse aggregate

(1) #1 @Eﬁ%’ﬂiﬁﬁ%&ﬁﬁi CTLE2k ¥DLS u’iuwﬁmmﬂb REAR K.
Separation was observed, Explain how do you improve the mix proportion in Table 1.
(@) AEHRIEN COHRTa Ly ) — MEER R TRT AL L SRR, 23~ &%
i %ﬁ’\ 4. 'You are going to cast conerete at the area where the day-average temperature is 30°C. Bomt
out the pred1 cted problem, then éxplain your solution.

23 ﬁﬁ:ﬁﬁf{ﬁ:ﬂﬁf\mﬂiﬁﬁ Mitigation of envirormental Joad

2y y ) - b OWEZE L TR T S BRAR ERA~ ORI 2 TR TR B 2 & 7:»:'( &%,
o x 24 éi‘)’_cl‘. Listup the activities for mitigation of environmental load relating to making concrete as
much as possible.
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Cautionary N otice
Do JL open this booklet until the start mstructlon is'given.
Use your black pencil to write your answer,
Your answer must be written on your answer sheet.
Write your applicant number in the cover pages of this booklet and answer sheets
This booklet contains mathematics questions and questmns of six specialized
subjects (structural engmeermg, hydraulic engineering, geotechnical engineering,
infrastructure planning, concrete engineering and urban planmng in international
perspective). : |
Answer mathematics questions. And choose 1 out of 6 specialized subjects and
answer the questions.
You can ask the instructor to exchange thlS booklet in case of sheet. mlssmg,
disorderly binding or unclearly printing.

. Use the blank sheet of this booklet for draft writings.

You may NOT take home this hooklet and anawer sheets.
You will NOT be allowed.to leave the room until 70 minutes have passed from
the beginning of the sxamination. \
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® F

Mathematica

wOEREL2L[B1 2 & R s,
Answer the following questions [1], [2] and [3].

[1]
Ly@ =1, y'(O) = 059%14‘6’3‘%) é:'C\ W By - Zy ~8y =0 @%Ekﬁ@&

RO K.
'For the differential equation, y” — 2y' — 8y = 0, find a particular solution

_satisfying the condltmns, y(0} = 1" and y '(0) = 0.

~(2)4f‘5tﬁ:’5¥§”t y! y-— 3sinx 0)——}&%%;}5\‘&5;

For the differential equation, y' —y = 351nx finda general solution. -

[2] AT OITFINER D E 5 DR~ BRI bISgTseRkd L.
' Examine whether each of the following matrices is regular If it is regular, then,
calculate the inverse matrix. '

12 3] 1 2 1
1)’2 3 4 2)[1 3 3}.
3 45 1

i

(3] FUAE L &5 MM OREC, BKS(xy) =22 + 2R R k.

Integrate the function, f{x,¥) = x? + v, in a unit circle centered at the origin.



HPFE

Spacialized subjects

%Fﬁ 8 é:‘rﬂf (T2, 7}<I*““, AT, TARSER, =/¢ )~—I~I$, @%‘%BFH%E)
. @cFﬁaBlﬁ&ﬂf%@ﬁb%@Fﬁ%%ﬁ@%ﬁ‘é Eon '

Choose 1 out of 6 specialized subjects (structural engineering, hydraulic engineering,
geotechnical engineering, infrastructure planning and concrete engineering, urban planping
from international prospective) and answer the questions.



HWETS

Structural Engineering

UTOMLE 2 cETazl. YERREREMCERLTANIZE,
Answer the following questions 1 and 2. Necessary symbols should be defined before usmg
them.

1.

)

2)

3)

WO D~DTE XS, _
Answer the following questions 1) to 8).

LA OE: o) 641@%#?0)&% & Eﬁé‘?‘cﬁ@ﬁﬁ'kf:b \TEH%'H:J:

Explain the plane sections remain plane assumptlon and the perpendicular sectmns

_remain perpendmular assumption in Euler-Bernoulli beam theory.

S0 I & 3 I MBIERIEY AB 0> PRICKSHEPEERS LR L &, 2/

C ROBTE FTEICEET DR ERD K, BRI OliE L #RIZ—#K T, Bl

Xa, [B2a0EWH, Yo/ FEITELT5. ‘

Calculate the tensile stress at the bottom surface at center of the simply supported beam
AB when the beam is subjected to a concentrated load P at the center as shown in Fig. 5-
1. Assuming the cross section (rectangular he1ght a, width: 2a) and Young’s modulus E
are uniform across the span.

P 2a :
2L 2L —>
>< v 1 -a/\
A JANS \
A . B .

Cross section shape

®S-1 WERZTHEMZELD AB
Fig. 81 Simply supported beam AB subjected to a load

BMRFITY AB IEA SWERHEPERVIEE, EVOR N RRTIEDS K 5 n 8
TEITY AB BMMERTD CD ick - THMTR L, MMEFIED CD OME LRI
—¥T, WEIEE Za, BaDER, Y7 REIZEE TS, WE, BIS2RTFTRIKANY
RRICEORPTEPEIEA S5 L&, BHXEITY AB ORkicbh & BEXERIZY CD
NHRITARNERD L.

After removal of the concentrated load P on the simply supported beam AB the s:mely

supported beam AB was elastically supported by the simply supported beam CD so that

both beamis cross at the center of each beam. Assuming the cross section (rectangulsr,
height' a, width: @) and Young’s modulus E are uniform across the span of the simply
supported beam CD. Calculate the maximum deflection of the simply supported beam AB
and the reaction force from the simply supported beam CD when the concentrated 1oad P
is given at the center of the simply supported beam AB again as shown in Fig. $-2.



Cross section shape

.. K52 WHEEWERETTI 5 UMY AB
Fig. S-2  Simply supported beam AB supposed to a load and supported by beam CD



2.

1)

9

8)

4),

B S-3IERT 2RI —AVRDONTROM D~DiE iz &, XL, EEXEARNT
BB ETH. Fh, XY EEHEE, FalEkEraRY, SROKEIMERL2ETS.

Answer the following questionis 1) to 4) about a two-story frame shown in Fig. S-8. The
frame ends are rigidly embedded in the ground. The bear_ﬁs and columns can be assumed
to be rigid bars and elastic'bars respectively and the lateral stiffness of each story is k,2k.

m
. > Up
k 2m

o——u

2k

7 N
RS3 2@7—Av
Fig. S-_S' Twao-story frame

At~ b Y 7 ARL KB R ) Z AMERD &L DICRT L &, det]K—’M] = 02V TEE

EESwERD £, : .
Solve det[K — @w?M] =0 and determine the natural frequencies w of the system, where

k=[% . m=Pr )

[K — @?M]¢ = 0 b EFEMEEHET 2BFRS MgpERO L. XL, BFESZ Mg
- ERR 1 23S ICRER L.
Solve [K— w?M]¢ = 0 and determine the eigen vectors ¢ so that the normalized mass

"‘becomes one. _ ,

BRERICET S 1 RE— FE 2RE— FOE— FEEZERE L. BHRCEEBOKFEEL
Uy, wEkmEANTEL L

Draw the shape of the first mode and second mode of natural vibration, Write the lateral
displacement u,, U in the ﬁgurg using m.

B9 CHRLE 1 RE— FE 2kE— FAERLTWE 2 L ZEHE X,
Prove orthogonality of the first mode and second mode you drew in the question 3).



KIE
Hydraulic Engineering

LT OBRE 1~3 OVFC bRET 52 & REREEREBLTAVGZ L,
Answer the following questions 1, 2, and 3. Necessary symbols should be defined before using them. _

1. ‘ .
RO (1) b (6) WEXR SV, Answerthe following questions (1) to (6).

(1) 208Kl CKEO®SOEEH b¥3) ¥ERDOE -+ SHMASCHEMETS. =
OLEMERDHBEQREDE L LTRDB L LR TE ORI L L, & blezFLF—
BEEKAEREETEE, RIS o CENEREREEPCHRICETE &,

Two large reservoirs are connected with a straight circular pipe with the diameter of
D. The difference in height of the water surface levels in the reservoirs is H . Explain a
method to obtain the water discharge Q in the pipe. Then, draw a hydraulic gradient
diagram and an energy diagram with the information about necessary properties in the
diagrams. ' : -

@) T b UDRUEIERIET, NI E o, ORI 20 E TAR, BRI
B o, DA EKRA ETANI L T 5, LRGBS CRE L THELE, 20
LE, pEpRAOTELRE, REL, EHL0MMELIELTNEb0LTS.

The water tank was separated into two parts by a board with a hinge attached to the bottom. The
left side (water depth 24) and right side (water depth %) were filled with the liquid of density p, and
P, , respectively. Describe "o, using o when the board was standing as a strait upward. Here,
both side of the water was not moving.

(3) MR 1100 DF AOMIE R LERETo iR, BIEICET 0.5 ms O
ABNE. FHTEOL bOWGHEE B LI EVDERL L,

A 1/100 scale of the dam model was created, and overflow experiments were conducted. In the
experiments, the overflow velocity of 0.5 m/s was measured. Consider the overflow velocity in thc
prototype of the dam.

(4) BREO X > REFMETEKEIC, R 1.5 m's O
KBTS, KER=08 m DBESDEERNF—
E, 7A— PR 2R, BifHHEr2UBE L. &
L, TRL, EAMEEX g=98m/s* & T5.

[
y

15m |

]

0.8m

Consider a uniform and steady water flow with a
constant discharge Q = 1.5 m*/s, When the water depth was
set as 0.8 m, suppose the specific energy, E, and the Froude number, F,, and judge whether supercntxcal
flow or subcritical flow. Suppose the accelerahon of gravity is 9.8 m/s?,

o



. (8) KETOEENSE H‘Jﬁﬁ-%{‘*&ﬁﬁb\é& 7](@&7?5&1%&1"7‘//%&75%?@@?&@&?
%ﬁﬁ#é%ﬁ@%ﬁ%ﬁmﬁ%é
S gktanhkh
2T, wlZAREY (o=22/T), EiXESK (k=27/L ), TIHEOHAM, LZE, hﬁﬁ
%,ngbMEET%é._@ﬂmBW&ﬁﬁwﬁﬁLaﬁﬁcwﬂwﬁéﬁﬁ

The dispersion equation was derived by.equations of the water surface shape and the velocity
potential using kinematic boundary conditions on the water surface. '
: o’ = gktanhkh
Here, @ isthe angular ﬁ'equency {@=27[T), k is the wave number (= 2z/L), T'is the wave period,
L is the wave length, g is the gravity acceleration and 4 is the water depth. From the above equation,
* derive the approximate solutions of wave length and wave celerity, C, in the shallow water region..

w)ﬁﬁ%m%ﬁ%ﬁ&%ﬁ&ﬁmwﬁmgﬁﬁwowf;ﬁ%@ﬁwwﬁﬁbrﬁ&;.

What are the points to keep in mind when cons:dcnng disaster prevention against tsunamis and
storm surges in Tokyo Bay? Answer this question considering the difference between tsunamis and
storm surges in the bay. )

2. : - )

| OKER EO—RIBE R ORSBEEARICST 5BREELS. LEL, BEOEMNDA
YR h=hy, FOEZ v (00), HUOKEE =k (<), FEEv, G0 &T5. ok
o4 UBBEOEBIEE ¢ LoV TEX S, BEOMBERA LT IV tr—AR T as
DREB L, GBEE c CBYTIEERNLRD & ZORBEBIELTRLD T LEFIM
LT, v ()~ (@) Fxk kEL, KOBEY ) EIMEELg LT

. Consider a bore in a horizontal and straight open channel with a uniform rectangular section. The
left-hand side of the water depth and the velocity, are.# = /1 and v (> 0), respectivcly; and the water
_ depth and the velocity at the right-hand side are = = 2 (<) and vz (> 0), respectively. In this condition,

consider the propagation velocity of the bore, ¢. Set the control volume from upstream and downstream
of the bore, and focus on the control volume. The bore seenis to be stopped, when we looked the bore
from the moving coordinate system that moved with the propagation velocity, ¢. By using this moving
‘coordinate system, answer the following questions (1) to (4). Suppose the densny of the fluid is p,.and
the acceleratlon of the velocity is g.

(D) = hE—AR D a— A OERE &1
Draw a control volume of this situation.
) ERERERD L.
Derive the continuous equation.
(3) EEHENERD L.
Derive the momentum equation. : ‘
(4) R ORIEHE c 2R L. 2L, vEEDLBLTHI L.

" Consider the propagation velocity, ¢, of the bore using v1.



3. K - ‘

TROL > RES 4m, B3m BE7m BEOES 03mO=y2 ) — MlOFEr—Y
VBB D. KICBPRERESORERICOVTRINT S, BEHE 3 #1é LTHY (1) ~
(4) u&zck L, BEHIMEER g=980ny/s? J:L,, 7J< ayvy U— hOBERENE

#1 1000 kgfm®, 2300 kg/m3 T3,

A hollowness box caisson is floating in the water, as shown in the below figure. The height is 4.0
m, the width is3.0mthe length is 7.0 m, and the thickness of the caisson is 0.3 m Answer the following
questions (1) t6 (4). Suppose the acceleration of gravity is 9.80 m/ 5%, and the density water and concrete
are 1000 kg/m® and 2300 kg/m?, respectively. Answer the values with three significant digits.

I |‘ Y T T
I | | I
N i [ | I
- ] t t T f
=) 19.3m 0.3m | 183 m 0.3m
- < -l - & =N
40m .
1 1 | 1 d
H 1]. 1 I- ’
1 i 1 o \
L Com e 03my__ ___ )
.._..!(...... ------------- z=0
1k f
) 3.0m ' ' 7.0m '

o & oKEd ERD L.
Consider a draft water depth, d.
(2) RHES—Y OER (2=0) » fbiﬂ]otﬁau G DL do ZRD L.
Consider the position of the center of the gravity, de, from the bottom surface of the caisson (z=0).
@) PES—YOBE (=0 »LRATRELC DAL do R &
Consider the position of the center of the buoyancy, de, from the bottom surface the caisson (z=0).
(@) B G LEADM OEMEERY, BES— YV ORRERELE. '
Consider the distance between the ‘center of the gravity, G, and metacenter, M, and answer the
stability of the caisson. - '

i



HBETH
‘Geotechnical engineering

FARTOBRICEZ L. Attempt all questions,
MBI UTHEERMEE %I & Make suitable assumptions wherever necessary.

0] HFRFEEEEAes. SECHLTE - FRAHA LT &0

: E:iplain the following terms. You can use illustrations and/or equations if necessary. '

A

(1) 2 URAT / I —RJT  Consistency limit
(2) EHEBRIGT Conéplidation yieldiﬁg stress *
(3) BoBE 7KL  Optimum water content

') BEEEJ?R@EE Critical hydraulic gradientl

) %JFE’;’E}’J% - Group pile effect

[2] TREORMICEZ L. Answer the following queétions.

(1) BB 5 EOTARRRE Zo%f, ThENOFEERATL.
List two types of laboratory shear testing methods for soil, then brleﬂy explain those testing methods

2) v \E@WE%%'Fi%?@E?’ZST\_HJ@ E%ﬁﬁﬁ#’%@ﬂﬂ% jiiﬂs‘%' 3oL,
Describe three application methods of consolidation test results to sstimate the final cor_lsolidation
settlement of a shallow foundation,

() LOFJEKRIFEHERD GNHENRRSBEE 2, TNThAOFEEZHATX.
'List two laboratory testing methods that can estimate permeability coefficients of soils and explain
each method. !

e



[3]

FTEOL 5 o2 F i — R LT BRI 5, HFAALIHRE D 5 10m 0

BERXHD. UTOMWKELZ K. B, ROBMEFREEy 1X10kN/m* & UTHW.
As shown in the figure below, a uniform sand layer is deposited on hard bedrock. And the depth of the
groundwater is 10 m from the ground surface. Answer the following questions. The unit weight of the water
o i 10 KN/m?, ' '

(D

WE»BELALE J: 5 IR AR U, ATEARIRE 150 kPa CEHEERITV, %
DEIEIK R CEANE T o, ORE, MK 200 KPa CHBAITHEIZE -,
723, TERRICHEREPIcRAE Lv‘\.@ﬁurﬂﬁﬁmmﬁ 50 kPa Tdh-o7=. ¢'=0kPa LIKEL,

' DIEZRD XK. ' :

A consolidated undrained triaxial compression test was conducted for the undisturbed specimen which
sampled from the above sand layer. After saturation, the isotropic consolidation with an effective

‘confining pressure of 150 kPa was performed. After that, the shearing was conducted under the

" undrained condition. As a result, the specimen was failed with deviator stress of 200 kPa, and the

@

excessive pore water pressure generated in the specimen at failure was 50 kPa. Assuming ¢ '=0 kPa,
find the value of ¢,

TEOL 5 K HRHELDETHETREL, 8% 10m EHLEY, TEDEOEEI
EETENENITND D TEORS FROSHFHERT. Tk, EIMRIEFRENETNLO

CENMBITIERT A LESANEHER L. EEL, JrErOoLFERICES THER L.

3

As shown in the following figure, it is planned to install the retaining wall till the bottom of the sand

layer and excavate the ground to the depth of 10 m. Draw the distributions of the earth pressure along

with the dépth, which acting on the retaining wall from the excavation side and backside separately,

Then calculate the resultant force acting on the retaining wall for theé unit length of the excavation
1de and backside individually.

@OORRITESE, THOEOBEEICHT 5 RAMLIEE k. |
Evaluate the stability of the retaining wall for rotation, based on the calculated result of (2).

TR EAARERE » =160
RO EFEER e =200kNm®
otal unit weight » =16.0 kN/m®

aturated unit weight yxer =20,0 KN/m?

10[m]]  3gu1

(Excavation)

<L




{41 "Flglh-?rT Lo, LETEMmMLEDR Gu‘]@‘éihh@ﬁ 20m CDIEHEE*S:L'E BbH5.
DRI HF 2R THOWREI LK BARICL HZLITHETRE, THODE il W7KEZ’J=—'
BRI 50kPa {21 T Lie BEIEEKENR+EEL, TOEFITERTELIDBOLLT, UTD.
VAR &, 28, BERCOWT, DHFOLE G=238, Mltfte=10, EMREK =05,
RSN Co=0.1, HTFAS B EWHMREREBRECH . £, BBICONT, HHTOL -
HEG =26 RMbe=06&s%3. KOBMEHERITp = 10kNm® & TIN. (log,3=0477,
 log,#=0.602, log,,7=0.845 ) '

A 20 m-deep clay layer lies in between two water-saturated sand layers, as shown in the followmg figure. A
well is embedded upright into the bottom sand layer, and the pore water pressure of the bottom sand layer is
uniformly decreased to 50 kPa quickly. Answer the following questions, provided that: the sand layerhas
substantially high permeability, and deformation of the sand layers can be ignored. Specific gravities G; of
clay and sand are 2.8 and 2.6, respectively; void ratios e of the clay and sand are 1.0 and 0.6, respectively,
compression and swelling'indices of clay C, and C are respectively 0.5 and 0.1, Assume that the clay layer

had been normally consolidated before pumping up groundwater, The unit weight of the water %,is 10 KN/m?>.
(log,,3=0.477, log ,4=0.602, logw7—0 845) . :

® i’i‘."F?k%’%LJ?E < &J:Htﬁ%:@ﬁ'&ﬁéﬁﬁ‘d] SRER ?E’JFL‘SJ'J fifl I‘ﬁ?kJE D57 & KAE &
Assuming the water level in the well has been lowered quickly, draw the dlstnbutlons along the depth
of vertical total stress, vertical effective stress, and pore water pressure immediately after the pumping
up of water. :

2) HFk% < B biF T THRE OMBUKED 50 kPa K T o ¥ T RHIMEF Sht FE0R
AT AIS ), SREAES, MBKEDOSHEETEL. Bk, 20 & SHREORAL
BEA#HEE L. ﬂ%ﬁﬁﬂi@ﬁ&k%bfﬁ%i@*%@U?&#ﬂiﬁ-ﬁk&wa
BLHRLTEW.

Assuming the pore water pressure in the bottom sandy layer is kept 50kPafora substantlally long period,
draw the final distribution curves of vertical total stress, vertical effective stress, and pore water pressure,
Calculate the ground surface settlement. When calculating the amount of ground surface settlement; it
can be considered that the strain in the middle of the clay layer occurs uniformly in the clay layer.

(@) HTFARDL BLWEPDB T Liz k2T THOBBOMBAEN & L8 OREE CHE

. LUk, 0%, BHFRE Lk SHBERL TR OBEER T PET X, 2L, B R
BB ERE»OEL LN LD T 5, EEE@ﬁﬁkaTﬁ%iE*%@U?&#
B BRI LTV A LB LTEW.
The pore water pressure in the bottom sand layer is recovered to the state before pumping by stopping
pumping, Caleulate how much the ground surface can rebound. Assume the void ratio is not changed
from the initial condition. When calculating the amount of rebound, it can be conmdered that the sfrain
in the middle of the clay layer ocours uniformly in the clay layer. '

Smossiiennisl et b St




LRBHER

Inﬁ'asﬁucture planning

UTD 3MO&TEAFEE L. Answer the all quiestions from 1 to 3.

1 UTORCRTE> %, BE X & Y CRRSIE SHEOF—~F2bD. HHMEH L
T, YR BMER LTS X ORBEMRERD RSV,

About the data éhown in the table, draw the distribution of the data on a scatter gram.
Then calculate the linear regi:e ssion equation of Y explained by X.
X 9 1 -0 1 2

Y | -3 0o 0 0

2. UTOHARBI2WT, FITTHHE K, Explain the following words.
(1) SBAHFOEEMA Interaction Bifect in ANOVA

A

(9) VA 4B Ribbon development

) i*z:? @3 % Haussmann's renovation of Paris

@) 7HyF v Lf— OB EEEHE Enﬁronmenﬁl Areas in Buchénan Repo‘rt
(6) BREEMEE Standgrd ‘design volume.

(é) BEERERTE 2 é%iﬁ?ﬁ Start'mg shockwave ata si'gnalizéd intersection.

8. BATORY WizZ& % L. Answer the following questions.

(1) B|RIDA T 2—AT L DBIEEZ ENBWEERA LR SV, AT =N EHLETHIEDIT,

L ARYAORY FUTER SN, TORMOETHEASHIRES BRI EELRE
‘¥,  Explain the problems caused by urban sprawl’ Then identify measurez; applied in London, UK,

and other countries to prevent urban sprawl.

(2) SEBMERR® 6 SORUEHEH L, EHERRS AROMHHARIC LD X SRS hED
A%k~ 72 & v>, "Explain the core six principles of the neighborhood unit concept. Then explain how
the neighborhood unit concept has been applied to urban deﬁeloPment projects in Japan. -

@) TEBEEFX VRV FORETIR, v —FF 4 v P RRCOR D LR EEBIE T OTE
REBBREEDNTWS, BEBEXVAY NOEZEHAL, BENRERELTHS
NBR—=FTURFA RiZoWT, FORAEZVPALE LT, =—F 74 Y IRKTOmY
$B233 X OMEFHRIS BT OTE A OB 2 517 L2 &\, Explain the definition of TDM (Travel
Demand Management), Then explain what is Park & Ride as an example of TDM and diécuss the
possibility to apply marketing aspects and utilization of information and communication technology to
Park & Ride. .



L 4) HABEBIIKEERY 2000BEIOR MRy IND
D, 2O MRy 7 ~OEFTEBESERD LS 1L o
REINTW3, ZOL&RET 2 EEIPHRET 2RI ‘;::‘; '
b, B X SRENRMERDE, - -/l

" There is a bottleneck (capacity: 2000 [veh/h]) on a highway ™"
and the arriving traffic demand was observed as shown in the
figure. Obtain the time when the congestion vanishes and the CHTH R W R B I® :iznlwua
amount of the total delay by this congestion. '

damyand

capneity

&) 5/-','73/ RFRG MZoWT, EOMHEELRITHERPD &) i, E—KROR{ES
LR L B LR EDT L RTAY hOF AR 3 ABAE L, Draw a rough sketch of a
roundabout intersection by clarifying nght-of-way inside it. Then, enumerate and explain three

advantages of roundabouts compared with ordlnary signalized inferseciions.



vy YT .

Concrete Engineering

FRCORMCEL L. BERASEERS X SR TORW LI LI aITi, EOMERHE
EEER Ll ETHERED TIV . Attempt all questions, Answer the following questions. If you cannot
find any required characteristic values of materials, you may solve the problems by defining them.

-1.

Sy U — b OIJE Mechanics of Remfoxced Concrete

B 1 R SA5BOWTEE & B % TO LBYVRELL GIERSHL LTTEIID2 23 AER
#+D10 @ UBAF—F v7). D22 QAT 387.1[mm2, D10 DAFFETEML 71.33[mm?)
T#H 5. Cross section dimension and bottom reinforcement and stirrups are designed shown in Fig.1. The area

0f D22 and D10 are 387 1[mm?] and 71. 33[ ] mpectwely

o

8y

< Po=l0 & LTEN,

@

®

@ ®

b

P P. [ I
J, ‘L - - — Ao 300[mmm]
; B £ i h ’ 550[nn)
i - : Al ' d 300[mm)
f'; : : 2 hid 7 0[N ]
.3 J, i3 L /N ' A, A ¥ XDl )
N o | o - A o e @ F3 FD5EN mnv)
i

LE)LE‘—;I _ e | D10 {Usshape)

Fig.1 Side view and section view of reinforced concrete beam

27 U— FRERT AT VC[IKN]%EPC'BDI- V, = BuPpbn foe' b2

Caloulate shear capacity owing to condiole, V), with [ Joe = 020F%
assimption of pn=1.0. ‘ — +[T0o07d
IO, REF—F v 7L LT DI0 SRR ba /
s=200[mm| CHRELTHS. AF—F vy IBRIETHIL = 3100, 7 =%

DTED VKNIERD L. KD HEROH &
‘3’-5% ‘ls[kN] ;k ﬂ?; ﬁ'ﬁtaﬁg J:ﬁ .ﬁ) Vs‘=(Aw'fy'z)/s

The stirrup is made by D10, and spacing is s=200[mm], Calculate’ z=d/115.
shear capacity owing to stirrap, F5{kN). The yielding strengﬂ: of b= V+%
reinforcing bar is i

=4.5[m), P—IsouchwiﬁA Ot L2y, QT Rusd
5, QRAMBIETS, OVWThNEY, FOBRMLRIEEL: s

Assuming /=4.5[m] and P=150[kN], chose the beam state from @ to @ (Dno failure, @bendmg filure @

shear failure) then explain the reason of your choice.
RIS LELBNAOUENE R X —F 'y 7 OREHER Y, %D{RIJEI EHTRE

" Draw the predicted crack pattern of fhis beam and the optimum arrangement of stitrup on the side view.

€Y

el @%T?"Eéﬂéﬁﬁ—-fhbﬁﬁﬁ%@f F7EHE, TR LIRS -ORE Licdds .
%57 ERRE.
Draw a graph of load versus deﬂechon of the above beam, showing the point when the cracks that you draw happen,

on your graph.



2. =4 J— LI Properties of concrete
HWOEMNMZELTEX K,  Answer the following questions.

2-1 dbMEEmRSIW (&—L @*Eﬂ} TEIH= 7 U — P OERBERENT S 2 LiT2o%. Youarethe
designer of reinforced concrete bridge at Asalnlmwa-clty, Hokkeido (marked  in Flg 2-1)

() TWAMEOE TEZ bR DREES L TEDEM2FEEE L.
Explain possible concrete problems and their reasons in terms of durability. .
@ () THHEBAEOMBERFRT 5 »0HRE, OHFEE, OR&HE, ®§Eﬁ‘°§ﬂ
DEBRTENENMRITRL.
Explein your solutions against abovementioned problems from the view of Dmaterial selection, @mix
proportion, (@rmaintenance in service time
*MLmy Do b THE Ty ) MBNERRA R 10 KRR - %2 MIRERS RESITET XX b

22 ZVy¥azsyP—) Fresh Concrete '
# 1 OERSTIERC TR LSY 247072, Trial mixing based on table 1 was conducted.
#1. 22y J— FOESHE Teble 1. Mix proportion of fresh concrete

CGmax | AT 7 | KeAkE ek sfa BHfr R unit content (kcp/m)
(roma) slump waterto cement | afrcontent | (%) & wAVE | b | AEE | BRR
_ (em) ratio (%) (%) water | cement sand gravel | admixture
20 12 50 5 4475 178 356 173 972 0

) B IS v FE A MEE odinary Portiand cement used
"sla: MIEHIE sandaggregates volumeratio, Gmax: HFAFOHATE Meximum size of coarse aggregate

() £ 1 ORESTOIMBAMPEL T LE-T. POLSBRHER TRV DERBEEL.
Separation was observed, Explain how do you improve the mix proportion in Table 1.
) BIHYSUEH 30CCORIETa Y Y U — MEERRITRT SBNCE U SHBERES, &5 &R
WL, You are going to cast concrete at the area where the day—ave:age temperature 1s 30°C. Point
out the predicted problem, then explain your solution.

23 BEERERA~ DI Mitigation of environmental foad
a7 ) — FOBEER L TIThh T 3 BRERHER~OTHIC VTS TS I L2 TES
P20 < FT . List up the activities for mifigation of environmental load relating to making concrete as

miuch as possible.
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BRI

Urban planning in international perspective

HUFo3 MO&TEAREE L. Answer the all questions from 1 to 3.

1. UTORTRSNSBRHHCOVCREE L,
Explain the ideal city deseribed by the following figure.

Source: Howard '1898

2. UTORASEIoWT, KITCHAE L, Explain the following words.
1) BID (Business Improvement District)

2) TDR (Transfer of Development Right)

3. Explain Jane J at::obs’s core statements in her book “The Death.and Life of Great American
Cities” and the trend of urban development of the day in the USA as the background of her

* gtatements.

Dy Vel 3T ANEDES [T AV IFREHOFEL L] KBV TERTZRLED &8,
FOLHRERE LEBETHAUBROT XY HERBIBT L HEREOWTR L &bk~
gp\o ) L N
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8 Cautionary Notice
Do NOT open this booklet until the start instruction is giver.
Use your black pencil to write your answer.
Your answer must be written on your answer sheet.
Write your applicant number in the cover pages of this booklet and answer sheets.
Thie, booklet contains mathematics questions and questions of six specialized

_ subjects (structural engineering, hydraulic engineeting, geotechnical engineering,

1nfrastructu.re planning, eoncrete engmeermg and urban planning in international
perspective). '

. Answer mathematics questions, And choose 1 out of 6 specJ.ahzed subjects and
. answer the questions,

You can ask the instructor to exchange this booklet in case of sheet missing,
disorderly binding or unclearly printing. '
Use the blank sheet of this booklet for draft writings.
You may NOT take home this booklet and answer sheets.

You will NOT be allowed to leave the room until 70 mmutes have passed from
the beginning of the examination. .
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B &
Mathematics

KORIRE[L] & [2) 288 E 2 81,
Answer the following questions [1] and [2].

n

(1) WHFTER %" —xy +y=0 D1 DR y=x THARIEZEH-
T, WAFBRR 2%y —xy'+y=x* O—REERDL. ‘
" Find a general solution for x2y” —xy’+ v =x2%. It is noted that one of the

solutions for a differential equation x%y" —xy'+y=01is y =x.

(2) X OWCRMASE L, Show the partial derivative of z with respéct to x.

‘ a) z=(1+xy)? b) z=sin(x? +y?)
21 |
(1) BEHFES X CEENY M ERDE. Find eigenvalues and eigenvectors.
' 3 -1 1 -1 2 27,
a) [ 3 -1 3] b) 2 2 2 ] -
-1 011 -3 ~6 ~—

‘o]

Yotivi A=[i g] Rbs. Matrix A=[> -3 is given,

3) FFFIAZ AL k. b) ABER®D L.

Diagenalize matrix A. Calculate -A3,



e TF

 Structural Engineering

D L B R RS R [ ORHRO SR EIIE PSR LT B, EHRONE ik

G, B2 KRTRAMME L 75, £, ROBEFEEEL T3, UToMuEELRE Y,

A simple beam with the length of [ is subJect to a point load, P at the center as shown in Fig. 1. Cross

section of the beam is uniform along the axis and has a rectangular shape as shown in Fig. 2. Elastic
- modulus of the beam is E, Answer the following questions.

1) CoROEAMAZHE, EiFE— AV OHEHREL, BR% 3 vy,
Calculate shear force distribution and bending moment distribution, and draw the diagram.
2) RUFEOPIECMT I HE 2 RE—AY PERDEI W,
Calculate the second moment of area.of the cross section about the neutral axis.
, 3) BFWEPILLE, COROEDLSZHEMDERD TV,
Q ' Calculate the deflection curve of the beam, }{(x) caused by the point load, P,
4) C Ak SREE AT 2 EHE DB K Hom. & AKIG It OBAE1mx PRB X,

&%,%ﬁﬂﬁ%bﬁmﬁﬂtr=5;?ﬁgﬂﬁuuuﬁ\S&E&ﬁﬁxGﬂ%Eﬁ#
LA b 2 A OME 1 Xe—F v b, D IIKNEOIE. 73¥HE2 Xe—A Y 0bd,
Calculate the maximum normal stress, Gmex and maximum shear stress, Tma on the cross section at

56 . .
point C. Shear stress on a ¢ross se.cuou is given by T = Tl where § ig shear force, G is the

geometrical moment of areaof the cross section outs:de the wewpomt, D is width and I is the second
moment-of area of the cross section.

5) #ERIGE PILER T, mskrT_ﬁ%ﬁﬁﬁﬁmmetﬁm¢%ﬁcLﬁwstba
%, 3) OBREATRD IV, bbb, WEHOBRKMEq LT3,
The simple beam is subject to a tnangular distributed load instgad of the point load as shown in Fig,

3. Calculate the deflection at Point C by using the deflection curve cbtained in 3), The maximurn value
of the tnangular distributed load is 4.

Cj | . E __k—————ﬂ
. i , : ) | - H : . |Neutral axis
A p x C B : ik
JAN _Z.}_ . z . z
' | S
y : . o ' ' o
' -1 HREER R 5 MR -2 BMIROWE

(Fig.1 Simple beam with a point load) ' (Fig.2 Cross section of simple beam)



B-3 SAMAGEHEL R 5 EMR
(Fig.3 Simple beam with triangular distributed load)

2. ROBWEHICOWT, %1Eh 200-300 ZIRE CRHEH LA ¥\,
Write explanations with 200-300 words each for-the following itemns.

1) SR OBAAYE (395E)

Corrosion protection methods of steel members (more than 3 ifems)
2) S OB H I S EHERIG L BETORETE

Welding defects and nondestructive inspection methods in welding of steel members )
'3) EMLEMORE (BT LGP

Strong points and weak pc;ints of stee] structures
4) HEEDRETC B 3 B EDRR O

Design approaches for ensuring structural safety



BMEE BRI [ RTE TR 5
Specialized subject | Selected subject name ' Hydraulics | Applicant Number : -

LT D% F%1~3a>u\ﬂ"m_%>ﬁ@%ﬂ'5 k. M\Efxﬁa—emﬁzﬁbfmxé J:

Answer the following questions 1, 2, and 3. Necessary symbols should be defined before usitig them.

1. kOB (1) b (5) KBERREW,
“Answer the fo[lowing questions (1) to (5).

(1) F@@ﬁ@*‘aﬁ@jﬂﬁ@u, A4 F—DOFEET Y rbjf??&;b%% T OB R
PirB LS FhEhOFEHEOEK EHAE L.
_For spec1f' ication of the flow field, two distinct alternative kinds of the specification are possible:
The Euler type and the Lagrangian type Explam the two kinds of speclﬁcatlon methods in fluid analysis.

(2) s J:Uﬁif;lmi%_ou\'c, %z}m%%@ﬁ%%ﬂﬂ: &b L, ﬁ'ﬁ%ih*’&ﬁ'é@ii g
X5 fﬁ%’é‘b\’&rﬁﬁﬁﬁ‘i . "\ .
Show the definition of the streamline and the streak line. Explain when these lines coincide with -
each other.

(3) LAWK @ﬂﬁ]ﬁ&’u_omfﬁ%ﬁ;

Explain the Reynold’s equatlon of motion.

(4) _.#‘Cmﬂ)ﬁf’ﬂ”bﬂ%kibb VT, xBETy jiﬁ@ﬁf‘:i%%ﬂ%ﬁ’b u, vETHLE, ﬁﬁigﬁ
OEE, 1L UEAFERIX EODJ: SRS NaMnERE. .
Show rotation and shear strain of a fluid element of a two-dimensional flow, in terms of uand v,
which sre'defined as velocity components of x and y directions, respectively.

(5) g3k TH8 & nAHRELBICHL, o dﬁ%z %ﬁ'@ﬁ% LEX BNHEHEE 1 OEIT,
FOFSEEREIBRIV,
Show a typical phenomenon that is significant in the field of coastal engineering assoclated thh
~ expected climate change. Explain adaptation methods against the phenomenon.




EMR A

Specialized subject

BIR T T4

Selected subject name | Hydraulics

LkITHE 'ﬁﬁﬁ;ﬁ% " ) :
Applicant Number |

2. KTPICEINEEE ¢ DM EEICKFBIRETHL TS, ERRERER, Z0
CEBICBET BUTORWIEL S . -

_ Consider a steady, laininar flow in a small pipe whose inner radius is a. Answer the following
questions. "

() FFFEcaliE, SOPonbEERRITME L 5. BOLI R, &, &,
R Ur + SrOBOBRRO RIS 2D B ENp L EAMBATOADE Y &V PE, UTO
KB Y SO L ERE, EREL, _ulixjil'ﬁ'liﬁii. PSSR TH S,

Define x and » axes as in flow-wise and the radius directions, respectively. Show how the below
- equation works, considering a balance of the pressure and shear forces acting in a thin circular fluid
. element whose thickness is &7 and fhe length of dx. Note u is the x-directional velocity of the-flow -

-—rd—z.-l-',ui(?‘d—u) =0 (1)

and u is the viscosity.

@ R EREFECHY L, BIRERFEETRANLI LT & PR O TEEE A
H%ﬁﬁﬁ?ﬁéﬂé:k%ﬁﬁ.it:@ﬁﬂﬂmkﬁﬁhém,%wﬁﬁéﬁﬁt

* . Show the velocity distribution of laminar flow in a pipe has a parabolic form, by integrating the
_ equation (1) in radius direction with suitable boundary conditions. Show also the name of the flow.

@) EEOBESREATERL, UTCRERDFAY— U4 ARy ADKTRENS.

L, AIEOERE, IPFRORS, USRS, gRENNEETHS. MENE
BOBRSITIE, BERARREIBN LA JVAROREETH S LERE.

The frictional energy head loss, /, of a pipe flow is expressed as the equation below nained the
Darcy-Weisbach'equation, where d is the diameter of the pipe, L is the length, U is the cross-
seotional avcrageci velocity, g is the acceleration of gravity. Show the friction coefficient, £ is solely
~ expressed as 4 fimetion of the Reynolds number for a laminar pipe flow.

- ' Lvr

hy = d2g

@) AEERNSHERREICHEOLEL &, HHREN LT NILICES L.
C LRERBIZREWT, FREEORES TR SRS AL RCERL, BERORE
& L Lk LT E OB EOENETIRE L. K LEEIIHEE CHIbD LTS,

Flow in a pipe becomes transient from laminar to turbulent flow, when the flow rate exceeds a -
critical level. Show the name and the formula of the velocity distribution of a fully developed turbulent
flow in a pipe when the surface of the wall is smooth. Explain the different characteristics of flow
distributions between the turbulent flow and the laminar flow.



O

HRE MR T% KIFE  zmes
Specialized subject. | Selected subject name | Hydraulics Applicant Number

3. KULEHD = ~OXE REABORE FROL > HECERLE. HER RFTE
mmmamkﬁerkb %@%&@%@Eé%fh&aﬁﬁﬁﬁ%&%ﬁ,ﬁa?é hat

_ 0)5# WA - TR, §, B L UBIERRA. VW TU TORWTER &

"A pipe is connected between two large reservoirs whose water level difference is H.
Suppose the diameter of the pipe is suddenly enlarged from D, to D;, and each part has
length £, and £ and the friction coefficients f;, and f;. Answer the following problems,
by using the entrance and outlet loss coefﬁclents, Ze» ,, and the coefficient of sudden

enlargement, {g,.

(1) MR LOREHE, &bkl ¥ —ReHi.

_ Draw the same figure above in an answer sheet and add an energy line in the figure.

(9) BEERAAKTRR, WA - WHUREATER, hy, BEHRKATEROKE & BEPRTFE,
Draw magnitudes of the friction head, hy, entrance and outlet head losses, h,, ho,and -
the head loss of sudden enlargement, Rge, in the figure.

(3) ﬂT?k?lﬁP\J@%ﬂ('ﬁ}iE?EEﬁ% UJFM_L“C&)Z& LEFRAL, ?Eﬁ&%i‘?[é' LCHES

mw3—4®ﬁﬂé_o®hmMHkﬁﬁLLﬁ%Tﬁ

* Considering the total head in a reservoir is a distancs from a datum line 1o the water :
level, show an equation of the extended Bernou]hs theorem applied to a flow between the

two reservoirs,

@)H%W@ﬁﬁm,xxuﬁﬁnémbx _
Obtain the velocity v;, and the flow rate Q in the pipe.

(5) AIEMOTHRARFRLN, MROBORERL TRRIHIRSND T L 2TE,
Show the coefficient of sudden enlargement, {se, 18 expressed theoretically as a.
function of a ratio of the cross-sectional.area of a pipe, just before and after ‘the

enldrgement.




e

HA T

Geotechnical engineering

FTRTOWRMITE L L. Attempt all questions.
MBS U CHEERREERIT &, Make suitable assumptions wherever necessary

[1] T%O%%wowfﬁﬁmm%%i.%ﬁkﬁurﬁﬁ%ﬂémwr%mbtw.%%%%
WERAIRBETHZ L.
"Briefly explain the following terms You can use mathematical formulas and figures as needed. If
symbols are used, define them. .

(1) Terzaghi OXFEHAZ
Terzaghi's equation of the bearing capacity

@) AREE
Relative density -

@) ZREE

Secondary consolidation

4) S

Sensitivity ratio

(5) BRI BET BT L

Liquefaction indicator 1,

6) NAXVAF f =8y
Bioremediation

(7) EHRALLE
Bored piling method

- (8) B
Plastic chart

[2] FTROBMIZEX L. Answerthe following questions.

(1) LOMBEE ., THRTFOLEERG, mm%ﬁ‘zﬁkﬁgg%m &¥B. TobELoKTH
fr B Ry B R RE,
Let the void ratio of soil be e, the specific gravity of soil partmles be Gs, and the unit volume weight
of water be % Then, show the eguation that expresses the submergcd unit weight of soil, ¥"

() AR LOHRREEAVT—HERRREREL L 25, —HENHR 8 g TH 7.
TDLE, LOREOEANHET A LIERARABTEE o 2 ERBRTE.
An unconfined compression test was conducted on a saturated clay specimen. The unconfined’
compressive strength obtained was gy. Then, show the shear resistance angle ¢ and the undrained
. shear strength ¢, of the clay, respectively.



3] TRORMIZEXE. Answer the following questions.

(1) FAMEOIERICRVDBO LIRS 5.0m ORTHLEFHS, HLERETRIKERA
RALS, BLERETILICLY, HRER 30N/ ORFTEFMERTS. 0 L&
WUEERETTAECORME, 20L& OHRFELTFRERDE. £2L, ZOHEO
EBREIT 0.015mYday, AMEMERIT 0.0050m¥kN THY, HFEIHIWOFRESIT
—~ BRI ORRRCEA DD b O LT B, BB, ERER 80%2: 2% & & QR MRHEIL 0.60
&9 5.

There is & 5.0m thick saturated clay layer on a high permeable sand layer, Dmnage occurs freely on

the surface of the clay layer. When the embankment js constructed, a load of 30kN/m? ats on the -

ground surface. Calculate the time required for 80% consolidation to complete and the amount of

ground surface settlement for the embankment construction. The consolidation coefficient of this clay '

is 0.015m?*/day, the coefficient of volume compressibility is 0.0050m?kN, and the applied load is l-
: uruformly and mstantaneously transmitted to each depth of the clay layer. The time factor when the
_ degree of consolidation becomes 80% is 0.60.. .

(2) TRRT, ﬂ:ﬁfqum}gmmmﬁmums 8.0m’ @iﬂ,ﬁi;m;‘ BIKFIES OREH
- I'"Jﬂ)é}«t'xjj) on bV b, L, iﬂ?*&?iiﬁﬁ@?ﬁ*% 20m OESITARL, Th&
0 BVERSY DM BT R E R 13 1TKN/mS, TR ALUUIRO ST AL R E B s 1
20KN/m?, KRBT E R TS 10kN/m? & 5. A3, bR Ko kX 0.50 TH D,
B RBERV DD ETE.
Obtain the horizontal stress (total stress in the honzontal dlrectmn) or at a depth of 8.0 m from the
ground surface of the homogeneous horizontally-stratified ground shown in the figure below. The
groundwater level is located at & 'depth of 2.0m from the ground sutface, and the wet unit volume
weight. above the groundwater level x is.17kN/m?, the saturated unit volume weight below the
groundwater level y; is 20kN/m?, and the submerged unit volume weight 7’ is IOkN/m3 The earth ‘
pressure coefficient at rest Xp is 0.50 and there is no seepage flow in the ground.

A
2.0m| BEBATATKEE (Wet unit volume weight): #=17kN/m?

K

- SfnBAT AR E R (Saturated unit volume weight): yar20KN/m? -
6.0m KB ARER (Submerged unit volume weight): 7'=10kN/m?
¥ - +F4R% (Barth pressure coefficient at rest): K=0.50
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[4] JEAEBNICER L ERE» S, ZTo0SHMERRRAORBEN I HLE, Thbdo
Hlakk g, Bokafa Lictk, FEEMITIE, EEERNOEEEN p & U +oICRE RHRE
Db L TEFEELTY, EHRESREBL L. £0%, AREa 2 —RICRFLEEE,
RECEBTEE ML TE, SkSRIERRR L A ZHERRRE LI ENERE L. 7
Hok SRR G, SRS Ao, R U L & C R E ok, Tk E, RO

RERE, REL, oMU ERESETOAREAICET SMEEKIL, Mk 3F1§F7kﬁ&

il b7, =0, g &5,

Two samples for the triaxial compression test were rettieved from the clay sample prepared in the
consolidation apparatus. Afier the specimens were saturated with water, they were subjected to isotropic
consolidation under a confining pressure ov, which was sufficiently higher than the consolidation pressure
p. in the consolidation apparatus, without back pressure. At this time, the specimens became normally
consolidated state, Then, while maintaining the conf'mi:ig pressure oy constant, a compressive load was

.' applied to the specimen, and a drained triaxial compression test and an undrained triaxial compression test

were performed respectively. In the undrained triaxial compression test, failure occurred when the vertical .
stress increased by A, Then, answer the following questions. The strength constants for the effective stress -

of this saturated normally consolidated clay is assumed to be ¢ ‘=0, arid ¢ ' regardless of drained / undrdined
conditions. -

(1) B SHERRED DB DN SHAEANRE H %, o2 e, T I TR AN
LR, REROBRREAMIEATHS.
Express the drained shear strength Sa obtained from the drained triaxial compression test using -on and
. Here, the shear strength is the maximum shear stress at the time of failure,

(@ FHASHERRRS DRONIAIKEAMRS K %, o 4 FERAVTRE. T
LT, RO ﬂﬁﬁﬁmﬁﬁﬁc A5iE, BRI EAu & $REIS IS Aoy D, Arduldoe T
HB.
Express the undrained shear strength S, obtained from the undrained triaxial compression test using
ob, Arand ¢, Here, the 'pc')re water pressure coefficient 4r at the time of failure is the ratio of the
excess pore water pressure Auy to the.vertical stress increment Aoy, that is, A=duf/dov.

Q) BEMMER %, 4, FERVCER. = T CHREHINE m RIESACABRE 5, LEE
- BTHEROEBESaoOl, m=S/aThHs.
Express the shear strength ratio m using 4 and ¢'. Here, the shear stiength, ratlo m is the ratio of the
undrained shear strength Su to the consolidation stress op at the end of consolidation, thati is, m= Su/ov.

oo
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Infrastructure planning
. A
UTFCD 3 FEJCD%'C ’Efﬁ?f‘f'ﬂ‘x " Answer the all questmns from 110 3. .

1. UTFORIERT LI, TR X &Y TRAIND SHOF—F b 5. ’ﬁﬁﬁ[ﬂ%iﬁb\f*_&
TXeY DRERBERDREN, :
About the data shown in the table, draw the distribution of the data on a scatter gram.
_ Then calculate the coefficient of the determination of X and Y.
X 2 1 0 1 2
Y 2 |- 2 2 1

2. LTOREEICOVT, AT TREE L. Explain the following words.
(1) EERATTORESHT  Residual Analysis in Multiple Regression Analye'xis

(2) Kuhn-Tuckerfkf Kuhn-Tucker Conditions
@ +9v Py b Transit Mall

4 YRZavbp—A0 45088 Four strategies for risk control

®) HEsSEER Possible Capacity

(6) RHE(R I Cooxdinated Signal Control -

3. UToOMWCEZ L. Answer the following questions. . . .
W) AT LT+ =20 TDA R =R SLEDNTHALREY,  Explain the mechanism of

Incentive Zoning,

@) ZFTEHAMCRIT 2 BRRREF ARV 22 A TORBRBEAZRKIC WA ZA
WTHEEIZTRBE LR EY, . Bxplain the role of alternative-specific variables in the utility functions
used in Discrete Choice model in travel behavier analysis, with using an example.

(3) HBEOHMIZ L 3 HEBREORER., BRNOBERAAERBEERICHo TN AT =X
LEBHAL, ZOBBREELUILDOARROFIZTRLAREN, Explain the mechanism of
vicious cycle about urban bus services caused by the road congestion due to the increase of vehicles and

demonstrate an idea to stop this vicious cytle.



(4) }#{Rﬂ 2 BHER TIOE R 10 SEER LieL 5, % | B 40[km/h]c7)3'iﬁﬁ?b§ 100

v 8 2 ERCHE 60(km/m]DEFS 150 AERH shit, ZOLE, EME Q. EREK

K, H#Fﬂﬂﬁﬁﬁﬁ Vt, ZSRITHRREE Vs E R L, fm FT @EWF‘&%@T%OTW“‘C
EREERITORAD O LEETS. ’ .

_From a field survey at 2-Iane highway durmg 10 minutes, 100 vehicles traveling at 40 [km/h] on lane 1
and: 150 vehicles travelmg at 60 [kin/h] on lane 2 were observed. Obtain the traffic flow Q, the traﬁic
density K, the tnne-r_nem speed V1, the space-mean speed Vs, assuming that all vehicles were travehng
at constant speed and no lane change oeourred. '

(5) ?ﬁ&ﬁ & ﬁéwf@ﬁ%ﬁ?}ﬁ'bﬁ‘ciﬁﬁﬁﬁﬁ’ ERETD %L%ﬁ'ﬁ'mé REEOBEAZHRA
X, - Explain important point to be considered and its reason when desngmng highway geometry by
combining hdnzontal curve and vertical curve. . ‘ |



ayvr7Y—hI%
Concrete Enginéering

f&f@%‘i"ﬂﬁ{&%i’_i. Attempt all questions.

1. 8=y Y— MIEMETEOF% Mechanics of Reinforced Concrete Section
?ﬁ!@%F'ﬂb‘kﬂX. Lo .Z\Eﬁz’fi%ﬁ{ﬁﬁéx BTV EHET LIRS, £ O BHHEE
BB U LTREREDTIV,

Answer the following questions. If you cannot find any required characteristic values of
materials, you may solve the problems by defining them, )

() THFERSDIRE) EMBE L, _
Explain the assumption.that “Dlane section remains plane”

(@) B LICETEEE =2 Y — MREOKRETT M (Y ) 2R L,

Computé the ultimate fléxural capacity. of theé reinforced concrete section as shown in
Fig.1 (assuming that the axial force is zero). . ' .

) B 1 OEEDOT Y 7 v Uit ShABRGOMEX As 2HOT L. SEHRBRTS & RIFRC
7FV0T ) — T*#Eﬁﬁﬁ&ﬁbfﬁéﬁ’&ﬂ!x’éa PO L& ORGSTERERD X,

When the cross—sectional area of reinforcement (As) is increased, conerete of the upper
flange finally fails in compression at the same time a$ the reinforcement yields in the
ultimate state. Find this cross-sectional area of reinforcement at that time.

(4) E 1 OIFEICET T — 2 v P 2ER SR CHIFRHERE LI L 25, HiRyRIY 60n T, A7
BADEE N 0. 2m Thote, ZDE %@ﬁ%ﬁﬁ@ﬂ'&*#ﬁﬁ%iﬁﬁ:’ﬁ.}:

When we apply the bendlng momen’c to the cross section of Fig. 1, it exhibits 60m of the
radius of curvature and 0.2m of the depth of the neutral axis. In this situation,
compute the stram of reinforcement.

(5 l§l LOFTZ5 L SRIRRB SN VB85 LR UROSGE L7 5 Vi bR T3 &, &5
MERT BN a7 Y — PR TER T RWE D IDT 5 LA TE D, TORRENFN
BRI X,

.If the same amount of reinforcement as the one'arranged on the Jower flange in'Fig. 1 is
. also arranged on the upper flange, the bending compression failure does not occur before
the yield of tensicn reinforcement. Prove the reason from ‘af.mechanical point of view.

(6) B L OB MM DS DM T2 M EARR S U L 25, EHE CRAEHE
SR LT, b L. WETRIO 8%’]03-"&_74 ¢ D Jﬁb‘f’ﬁm gl Lkd, [MET
BnoTHLIN? .

When a flexural moment half of the sectional capacity was repe::.ltedl"yr applied
to the section of Fig. 1, the re1nforcemqn_t was ruptured by fatigue in 1
million times. If the moment of 80% of the sectional capacity is repeatedly -
applied, how many cycles will it fail?



25— DESRHBE fo=35MPa mambu.:/ou—mrmmﬁ DTHME

compressive strength of concrete simplified compressive stress-strain (s}
relation of concrete

r
$415 DB K342 Fy=400MPa ; fe . ;

! Yield strength of reinforcement . : ) Jo
BEH5 O WAL R Es=200,000MPa: !
Elasticity of relnforcement i
2243 MR K As=300 cm?: : . Jg

‘ total cross sectlonal area of reinforcement - 0.0007 © 0.0035
- 1.0m i 5 '
L7325 upperflange 0.15m
0.15m . 0.15m
1.0m
l 'F77.// lower flange |« - l
R LR B o

1 J X 1

805 remforcernent '

TEL @fEvsY— Hﬁ"rﬁ&ﬁﬂﬁi’?a{ﬁ

Fig. 1 Relnforced concrete section and material propertles

2. ayyl— }‘ﬁﬁﬂ‘é‘%ﬁkvlﬁgﬂﬂ’b Mix p;'oportion of concrete and cracking
&@%Fmﬁbﬂtﬂﬂ L'C%%".J:a Answer the following questioiis. .

(1) 7 l//v.—.-.:t/& Y— T~0327/7’m75=6ﬁ7§§b75>67b>%ﬁ¥ﬁ-&&
| Explain what we can know from the slump test of fresh concrete
. @ =1 KRt 7 vy vaary Y — bORSIERNT, Bk EEHE(s/a) OFE2EEL

TERY PREMMEETL &, Y BEEROT Ly Yaavy - —F DAV SHE LR 28 B
 DEFFRER YO LS CHELT AP EMRE L, 2B, (RETRER ST, MEORE LCEN
EMATBROLT D, | , |
" Explain how the slump value of fresh cpncrete' Just after mixing and the compx:essiye s’trenlgth '
of concrete at 28 days vary when just cement content is increased under the fixed unit
. water content and the sand/aggregates volune ratio (s/a) for the fresh concrete (Table 1).

(3) TR ORI E S < Hil B, &1 LT*J‘FEFHH BeEEeE 2:“0).3: V. M&IE‘J‘E) %3
BQRV:IN S , .
Explain how the constituent materials and mix proportlon can be mod1f1ed so as to reduce

the drying shrinkage of hardened concrete.



m)§1m5¢¥ﬁf3vbi®ﬂm&\7547yv;wﬁﬁb<=yiy~b&mﬁbtﬁé\
RTVAE, 28 AERRE, 9 L AEMAEIRED L S RET 20, ML,

Expiain how slump value, 28-day compressive strength and 91~day compressive strength change

when concrete is manufactured by. replacing 20% of the cement with fly ash.

G)ﬁltﬁTm%KEWT\xﬁyjﬁaiyﬁU—Fﬁﬁ&ﬁﬂﬁ%ﬁﬁﬁﬁyﬁﬁ%ﬁﬁﬂw

WInEOMME L bic, EDXS T 2RI L, .

Bxplain how the slump value, concrete strength and the segregation resistance changs with

increasing amount of super plasticizer added.

F1 Zlyvaary—hoRe
Tabile 1. Mix propoftio_n of fresh concrete

ARG T

Gmax AKEAVRE | E5EKar | sh ) B4rk unitcontent (kg/m®)
(mm) | slump waler to cement content )| & | AP | WEH | 5E%E | BT
cm) ratio (95} (%) water | cement sand grvel | admixture
20 - 10 55 2 44 180 360 800 . 1050 0

) @AV R F Y B Ay MER ordinary Portland cement used

s/a: AR sand/aggregates volume ratio; Gmax : JBEH OBAHE Maximum size of coarse aggregate
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urban planning from international perspective

BT ® 3 2 DT R EEE X,

Answer the following.three ciuestiohs.

Ql THEOEIZS 5 BESHOMEIET 250 TH5, LOMBOREIC O THEE
;.c . . .
The figure below shows one of the ideas for the ideal city. Explain the outline of this principle.

Source: Le Corbusier, 1924

E)

Q2 Eic 3 BID (Business Improvement District) & TIF(Tax Increment Financing)
HEOENEFhOEBLHEL X, '

Explain the outline of the BID (Business Improvement Districtl',) and TIF (Tax Increment
Financing) system in the USA. ' ' -

Q3 TOD(AHISEIEMRMIIC 5\ T, Y0 & 5 i St /AR~ BT T E 30
PR B &, ,
Explain how the TOD (transit oriented development) can transfer of development value to

the transit system.
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Mathematics

ROMB[L) & (21 2ME 2EW,
Answer the following questions [1] and [2].

1) RO HERERT.

Solve the following differential equatlons,
(1) xsy’ +y2=0
(2) y'+3y +2y=¢* (?—ﬂi‘{‘ﬁ.ﬁ%ﬁ"\"’é Find a general solution)
[2] - - ‘
@) EMOERANCMLTx+3y—22+1=0 THLDOINDIFETEHS.
There is a plane w described by x -+ 3y —2z+1=0 in coordinate system T

BEARZEHAT - VORBLUT TH 3 L &, THEr OBl 5BRERD L.

Describe the plane w in coordinate system I' by using following transformati
_on matrix. '

x1 [T 2 31 1

- 2 bl

Z 3 5 e6lls 3

(2) LT OITFIE AL TTAED. W THIISHALE L.

Examine a possibility of diagonali;ation of matrix. Ifitis possible, then, diagonalize.

4 0 1 -1 1
S nf2 3 2 2| -1 3]



‘ HF B
Specia]ized subjects
P 6 %Ef ST, KT BETE AHER 207 J-—m:.;, EREATAE)
DFERL LAFERRL EOMBEERET 5T &,

Choose 1out of 6 specialized subjects (structural engineering, hydraulic engineering,
'geotechmcal engineering, infrastructure plannmg and concrete engineering, urban planm.ng
from international prospective) and answer the questmns -



M T

‘ Structural Engineering -

1, B ERTRALREMLT, ROMBECELAE v, REESH U, TS | OEMO
i EIE RS 2EL B Y O | oMo RIS B EF 5

Answer the following questions about a cantilever beam as shown in Fxg 1. Note that the beam length
- {8 21, and its bending rigidity 2£7 and Ef for the left and right half sections, respectively.

1) BA%By oFWHEEH T L %, 2 BE) OWFE2RE—A Y PERDEEN,

Calculate the second moment of area of the circular cross section of the beam with its radius of »
about z axis.

2) RofKRICHETRR I RPHEE P BIERT 3. %Giiﬁ}iﬁ -&Afﬂfﬂ]iﬁ’d:uﬂﬂf%ﬂ

AV ISR ERDET N,

The beam is subjected to a vertical concentrated load P at the tip. Calculate reaction forces at the fix
end, shear force and bending moment distribution. .

3)2)o&ﬁhﬁwf\ﬁ@%ﬁ@tba&#b&ﬁ%ibtéw

Calcuiate the deflection and angle of deflection at the beam tip in the condition of 2).:
4) B2 kR & 5 REOARICHER kDA R o EOMHHE P & 3 RO KN
DrebatRBEE R, A, SARRNEL HERT IHICRSRORETH B,

The beam tip is connected with a spring with its spring constant of & as shown'in Fig.2. The spnng '
has free leugth before the loading, Calculate the deflection at the beam tip by the concentrated load 2.

A
v
A

2E1

- B 2 SN RE TR LR (Fig.2 Cantilever beam with spring connected)



2. ﬂﬁﬁ%%ﬂ%,&#fatﬁﬁﬁataamﬁﬁnour %h%%nm?%ﬁ@ﬁmb

TEW,
Write explanations w1th 50-100 words each for the followmg 1tems :elated ta deslgn and fabncatmn of
steel strugtures, -
1)ﬂﬁwﬁﬁuﬁﬁaﬁﬁk%a$&%o&§$&
Welding defects and nondestructive mspectmn methods in welding of steel members
2) BAEL b ERES :
High strength, bolted friction joint
- 3) M DTS L & DI
Fatigue of steé] members and its prevention measures
4) EHoRFE (328E)
. Corrosion protection methods of steel members. (more than 3 1tems) :
5) A4 5 —HBEE % DMK '

Euler buckling and its prevention measures



. KIZ -
Hydraulics

LT OB 1~3 DVFhiC bETE 2 &, NESRERERLTENS DL,

Answer the following questions 1, 2, and 3. Necessary symbols should be defined before using them.

1. RO Q) 25 (5) &R,
Angwer the following questions (1) to (5).

(1) T, BEEREy %, Bl R, AN ¥—miE [ =27 OREREK
BnbLib&, =V /OEHRARETE, ¥, BLMEEAV-CIKORRET S &
&, MHOELBHS L LTEANEETHS T Lbb, HNE~&AERRTHIERYE, &

bz, HEr ORBLER L OMIT, REOHMR UL L E0L D RBMRICHD1ETRE.

Show the Manning’s formula for the cross-sectional averaged velocity of a river, in terms of the hydraulic
radius, R, the energy gradient, I, and the manning’s roughness, . Explain a suitable simi]ar_itj law for the
scale modeling study of a river flow, considering the chief external force is the gravity force. Show also the
scale ratio of the manning’s roughness, » for the mode] and the prototype, in terms of the scale ratio of 1/
3. .

(2) BEBKITEVTVS & &, BARGERTR L kOERICSE LU, 2 ORBIEAT LRI
WEPETFE B, COFRBRRVCTHECREEZRD 5FEE, NERWTHRAY L
Show the name of the principle that the buoyancy acting on a floating body in a water is equal to the
displacerent weight of the water. Explain a method to obtain density of the body by using this principle.

B) FEx: 2 by AOEMHRRE, A4 F—OEHHEROW MO THIEE L.

Explain the difference of the Navier-Stokes equation and the Eulerian equation of motion.

(4) BWORATTLIE U BRI TR X,
Explain the mechanism of wave shoaling.

(5) WEED & 5 AR L DB 31 3 AR A REESIT, Fl, RESAR

'owm EMRETBND. ThEh YL ) AERTHEPEMRICKIT 5 L, Thb

EWCBELTWD Z & 2BRAE L. it,;@&v&ﬁ%&ﬁﬁﬁ&bfﬁ%&ﬁﬁ&zo
#ﬁ; ' ‘
The red tide, oxygen depletion, and the blue tide formation are the typ1cal examples of water detcnoratlon
phenomena that are often observed in eutrophic coastal waters such as Tokyo Bay. Explain characteristics
of each phenomenon bneﬂy and show that these are interrelated with each other. Additionally, exPlaln two
representative countermeasures for the phenomena.



2. BO& ST, KERRKE, KEWE LA RRE L SENHE LTS, Bl = 0Tk
WONTI TR NRERT I L &, REOREOEREE LS. AMOMERA, KD
BEMES & ORI OARM R T E o, h(Y), NROKEEED SO S &hy, WIRGEEEC,
BELANOEREEM (X UKOREREZRL) , KOBEEEpL T2 LE, UTORWNIEL
. REL, EE&:“"‘E@#%@EE%E‘G% BELANR—FE LTEHTI V0L L, KIUER
0L¥3. . '
A trugk with a tank ﬁlled with water is at rest in a horizontal floor as shown in below figure. Suppose a
small hole, whose cross-sectlonal area of a, is opened in a side wall of the tank at time ¢ = 0. Consider the -
following questions, when the cross-séctional area of the tank is A, the height of a small hole and the water .
level measured from the bottom of the tank at the initial and at time ¢ is Ay, Ao, and A(%), respectively, and,

the contraction coefficient is C, the mass ofithe truck and the tank is M, and the density of water is p. Note R

that friction between the floor and the truck can be negligible and the truck and the tank moves in a unified
fashion. Consider the atmospheric pressure is equal to zero.

/7////Z//fff////k/k///f’

0} 7J<ﬂ®iﬁﬁﬂt A iif!\;x@lﬁﬁﬂ a LV b+akENL b't K T LR QAR —%
RUFER Ca % L BHIE T L OMIRALR—4 DEREZHEAL, NTRE. % ao"c%:ﬂ:ifﬁ P 3
ﬁ@*&ﬂh@&%@ﬁﬁ#@%ﬁv%ﬁbx
* Assuming that the area of a small hole, g, is much smaller than the water area of the fank, A, show the

Bermnoulli’s equation, when applied it to a stream line from the surface of the water in a tank I to the cross
" section II, where thie flow stream is uniform. By using the equation, show also the velocity v in the cross -
"section 1L .

Q) MO b DL & DFEMT BAOTR G ERD L.
+ - Show the flow rate, O, when the water level of the tank is A.

() ERROEBE AV, KMOKHS h O L & AHNE waﬁféww;
Show the force, F, actmg to a water tank when the water level of the tank is A.

(4) Bl ¢ h:.’fob‘%'f:‘a‘ﬁf’){*ﬁ% TR EE, BECETAEHFRRERLREN, é !‘obx_,
T OEHFRRERTIERORHA R seEOUEx 2ROL,
Show the equation ‘of motion of the truck when tank position is x at time £. Obtain the posmon of the truck
x in terms of £,



©

3. TRDE ST, 3-o0kKIBA, B, COMETERT 500 - AESHADBRB ST
5. BEEDBSDENENOEDRERL,, Ly, L;, BOEEER, 4 d: BEERBRRERES,
fo LT3 KMBOAMUBEREN S H0 L &, ZOKI~HALT HHEB0E 2o,
k¥, UTORWIEL L =EL, H> H»> HiThY, ﬁlkl@ﬁﬂiﬁﬁiﬁ‘ﬁﬂ!{n

Kok L, BEMEDTORKTERTEDI LD LTS,

A diverging and converging pipes are connected at a point D between the th:ee,rcservo'xrs, A,B,and C, as
shown in a figure below. The lengths, diameters, and their friction coefficients of the pipes are (L, Lz, L3),
(d1, dz, ds), and (1, f2, f7), respectively. Suppase the flow rate from or to the reservoir B is zero when its
water level is 4. Note that water levels satisfy a condition of Hy> H;> Hj, the entrance and outlet loss.

* head are expressed as X, and X, respectwely, and the energy loss at point D is negligible, Answer the

following questions.

U)ﬂ&mmkSooﬁmmk%h%h%ﬁfféﬁﬁ%ﬁé I#W¥—ﬁ ﬁmﬂﬁﬁ%#
EARRI _
Draw three reservoirs and the connecting pipes in an answer sheet, and add the energy line and the
hydrauvlic grade line. '

) KB T H 22 D”‘E%E:-i‘f L“CSM Gui$iv¥~1%7$ﬂ|1%ﬁﬂ§ L, ThEhikk O, 0s,
ERVTRAELREN.
Show the results of the energy conservation law in terms of the flow rate, O/, or @3, when applied it to two
pipes separately. ‘

(3) @ 'c*,kabf— 20OV THE O BELWZ L EFIFALT, @ ﬁu?ﬁt—i«\% FeibE R
. ’
Show the necessary condition of Q, considering the above flow rates, 0, and Os, are the same.




AT

Geotechnical engineering

TRTOWMBNCE X K. Attempt all questions
HEICHS U TSI R{RE &R K. Make suitable assumptions wherever necessary.

[1] THEOBRMITELL. Ahswer'the‘fpllolwing questions.
(1) HBEOETHFEE R bh s R ERRFEE S 0%, %n—%nojﬁ%"&'%%ﬁ&
."List three field testing methods which can estimate ground stiffness, and explain each method.

(2) TEHIHFEBTB L= ERA ) 70N T, %n%é’b@%ﬁiﬁﬂ’&ﬁ%ﬁ'l
Explain the generation mechanism of heaving and that of boiling in earth retaining works. -

(3) EOFARIERD DN DENRBTEE 0%, TALhOFEERATL.
List two laboratory testing mpthods which can estimate permeability coefficients of soils, and explain
each method.

2] 'FEE@;&‘F'?I %X &. Answer the following questions.

(1) Eﬁﬁ%%ﬂc#ﬂ%ﬁ@ﬁﬁ%_oéif %h%ﬂ@ﬁﬁmﬁiﬁ%mlﬁ% £.
List three types of final disposal site for industrial waste and explam the charactersitics of the structure
for each type. '
@) B 20m ORRSGAxREE L bl aE . (B S Sm) BHERT AREIRS Y, HA%
O TREFERENICMATLY. IHREEL T3 DL HARE X b 2 EHL THHE
O bREORR D THE 2 MREY, thPhoTEZHAY L. .
There is a plan to construct a road embankment (5 m high embankment) on a soft clayey ground
-having a layer thickness of 20 m,' and we would like to keep the amount of settlement after the road
-operation within an allowable limit. Among the consolidation settlement countermeasures which can
shorten the construction period, list two methods based on different principles, and explain each

O . method,

3 &&Fﬁrﬁzﬂ&@iﬁﬂkﬁ:ﬁﬁ &L, ﬁh'FNiH&'FIE&?&%&iﬂ EFEIE#?,SH’ bh
3. FREROITRIC SV THEMELBRE L.
As countermeasures against liquefaction for existing detached housing area, groundwater level
lowering method and lattice-shaped underground wall method can be mentloned Explam the
principle of countermeasures for.each method.



(3] fufn LATEREFEL2 AV TEMERRRET o, UTORMWZELL.
Triaxial compression tests were conducted using saturated normally consolidated clay. Answer the
following t'quesﬁons ) . .

(1) HIMRE 50kPa THEHEE LT otk PkFHET EAMFRAT o . BOFEE, MERS
71 100kPa *@ﬁki@ﬁt&tmﬂ&ﬁkﬁo o, ca=0 LRELT, 6 o)ﬂE%:kbb K. |
After performing isotropic consolidation with an effective confining pressure of 50 kPa, shearing was - .
conducted under the drained condition. As a result, the clay specimen was failed with an deviator
stress of 100 kPa. Assuming cq= 0, find the value of [ .

@ ()R LHEPHRECEFERET - ek, SERERKEETEAMEITo . ZOR,
RLSERRI M L BT I 38 LI BIBUKEE RS 25kPa Tiboie. REEREOMEISN & RD k.
T2lEL, e'=co, d= EHBLT IV ‘ .
"After performmg isotropic consolidation under the same effective confining pressure as in (1),
shearing was conducted under the undrained condition this time. At that time, the pore water pressure
generatéd in the clay specimen-at failure was 25 KPa. Find the deviator stress at the failure. It can be
assumed as ¢ ’=c:d and ¢ '= ¢

B) QDR Y HERIE e, p RD L.
Find the ration of strength increase c. /p from the result of (2).

@) T OEREEMHHREERR LI LRI T, S 10m OIE TR 2R
L. ZO&%ERBO—ERERE ¢,28 100kPa Thol, ZOL SRS 15m OUETH
B L e LR O—BEERSR S 2 Q)0 REH WTHEER L, X bﬂﬁ'F?k{i PSR D
RRCHY, EHRORMTERERT—RLAREDZLOLTS. :
A clay sample was collected at a depth of 10 m in the clay ground from which this normally .
consolidation clay specimen was collected, Unconfined compressive, strength of the clay sample ¢.
was 100 kPa. Then, estimate the unconfined compressive strength of the c¢lay sample retrieved at a
depth of 15 m using the result of (3). It can be assumed that the groundwater level is located at the
ground surface, and the unit weight of the clay is uniform in the ground.



(4] BoX S, DHiEE R TV ARENKERERMRECHS L&, TORBRERE 15
LT B DL, BEOERIE B 2V bITTEL VY. REL, BEEREREZRSHERI
Sy VEEMEATELRET D, ¥, DOWAKHERN AL 30° , EHEHAR L B ORI
& 0.6, WEEBEORAHENERL 24.00N/m®, BOBAEKERE 20.0QVm* & ¥ 5.

As shown in the figure, when the refaining wall that supports the sand ground isona horiiontal foundation
ground, how much the bottorh width B of the retaining wall should be to make the §liding safety factor 1.57
1t is assumed that Rankine earth ptessure acts on the vertical plane passing through the right side of the
bottom of the wall. In addition, the shear resistance angle of sand is 30 °, the friction coefficient between the
foundation and the retaining wall is 0.6, the unit volume weight of the retaining wall is 24,0 kN/m?, and the
unit volume weight of the sand is 20.0 kN/m?3.

1.0m
i
3 ZAWAS
I
. Plane on which earth pressure is acting
6.0m
[ 10m
PN r’\ — e
- AR JE@EVE Bottom width, B

Foundation ground



[5] < IEHEERSY (F59R F=800m®) REDHRLUTHERIT B LickoTe. ZORDBIEDRL
+21L7T, L DLWV EHLLEBRLEILBEEBT B I kicikok, UTOMWNZERE. &
B, WO T EATARE Ry 12 27.0kNm°, BREAKE wa i 120%THD. Eie, KOBL
. RE & 1 10.0Qm? & T 5. :

It was decided to backfill and flatten a depressed area (the area volume ¥ = 800 m?). For that purpose, we
decided. to use a mountainous sand collected from a nearby borrow-pit as a backfill soil. Answer the
following questions. The unit volume weight of a soil particle of the mountainous sand is 27.0 kN/m’, and
the naturai water content w, is 12.0 %. The unit welght of water %, is 10.0 KN/m?. '

(1) WDOHEDRBEIT LT3, &ﬁ%mmumqmmhﬁbrﬁkﬁﬁiﬁﬁﬁﬁﬁ‘
T g B 16.5KN/M3 B R0t T2 & OEMBENARER,, MMihe, MRS EoR® L
‘When compaction tests were conducted on the sand the maximum dry unit weight yumex became 16.5
kN/m® at the optimum water content Wope = 18. 0%. Calculate the wet unit volume welght ;4, the void
ratio e, and the degree of saturation S at this state. '

@) OTHELhEEREbLLE iaﬂzﬁé‘*ﬂ: Wopts ﬁ)‘tﬁiﬁﬁﬁﬁimﬁimm THDHELETO Z
iR L. Zolgds, BHRLUICLERLEE L'C:tﬂib%#%%ﬂﬁ‘“%ﬁﬁ W, BT
AR AW, %:SkabJ:

Based on the resulis obtained in (1), it was decided to backfill at the optimum water content wey and the
maximum dry unit volume weight Jqax. In this case, determine the weight # of the mountainous sand
to be collected from the pit and the weight AW, of water to be added, which are necessary for backfilling.

@) BDRULBHELEN %, KOBRRC LV EORLBABZAICETILE. TOLEEDRE
UM OHM ¥ 26 LRV & LT, M ARE Ry, & &7kt w 2 ENERRD L.
After the backfill was compelted, the backfill was fully saturated due to the infiltration of water. At this
time, assummg that the volume ¥ of the backfill portion does not change, find the saturated unit volume
weight %.t and the water content W, respectively.



HTD3 Bo&T2AREE L. Answer the all qﬁestions from 110 3.
L-UTORCFTES %, Rk X & Y TRESKD SEOF— 2855, RAEEH L

AP

. Infrastructure planning

T, X &Y OREREERD2EW, .
About the data shown in the table, draw the distribution of the data on 2 scatter gram.

Then calculate the coefficient of the determination of X and Y.
- o

X

-2

-1

1

Y

1

0 -

0

0

2. UTORMITONT, AT ORI L. Explain the following words.
(1) EEMAMOSEIME  Multicollinearity in Multiple Regression Analysis

(2) 7aPxs FVEMiICHIT AR Travel Cost Method used in Project Evaluation

8) ¥A7Y 54 F Kiss and Ride

Q) BRETEAAY PCORI Y —o v F e ra—Ey )

Screening and scoping processes in Environmental Assessment

(5) HIEELLEIE Stopping Sight Distance

) 57 B7247 b Roundabout

3. BLTOMWIEZ XK. Answer the following questions.

|l

(1) THEKEEEEED A B =K BT “CHE ’&Fﬁb"_('%‘ﬂﬁﬁ L#A &Ly,  Explainthe mechanism of

Land Readjustment Projects by drawing a diagram.,

(2) EBFZEROBSHEE 2 M TR L,V o B LRT (Light Rail Transit) DAL -1 &R PIZAR L,
2 OREI LB L2EVS,  Draw the domain of each mode in urban transportation. Then identify
the position of LRT on that drawing and explain the role of LRT. -

@) B—RFTA4 L Eon T, Vv AR—Aery K TOTRERNE L LT, BRERA
ZONTOBOYNROBEHREMBR &V, Explain how the road pricing project cases have been
applied in Singapore and London. Then explain the double effects of road pricing regarding charged

revenue,



\

.

@) HBEBEETT SERORE v L ETEM s OMEAEDOLD  quf
RN S, TR 1000[vei] P —REBERKN TS & &

o, WHC L D ERSERI M L, FHRE | g oRy P

" DR &%KRDL, The relationship of speed and headway spacing on . 8

a certain highway is shown in the right graph. Suppose uniform traffic- 0

ﬂc.)wing in 1000 {veh/h], the highway was blocked completely by an
" accident. Obtain the length of the queue in 1 hour formied by this accident.

() ZEBEBMEIHIT S HHRI LISFH LI L. HLHITRY 5 TERRHRE
WToheaRDDFESHMAE L, Explain “effective green time” in traffic signal control and
illustrate how to obtain it using a cumulative diagram at a stop line.. :



ayyy—hIE

Concrete Engineering
FTRTOBRBICE L L. Attempt all questions.

1. §fFa s U— NTHETEOHE Mechanics of Reinférch Congrete Section X

KROERDNITE L L, BERBEHHMEENEZ BI TR LM LS8R, EOR MG
EEEL L CHREREDTIW, ' '

Answer the following questions. If 3‘1011 cannot find any required characteristic values of materials, you may solve
the problems by defining them. ' :

(1) BRI giE=2 U — MNFEOKRRBEITA My (e kb L,
Compute the ultimate flexural capacity “Mu? of the cross-section (see Fig. 1) under no axial force. .

2) 1 O — RO 2R SRIRICHETE—2 v M EER EDWE, T
TR CTE{ET B, KbXRE fﬁﬁﬁﬁﬁﬁmﬂ%@xémﬁ kb &,
The ultinate flextiral capacity varies according to the axial force, which is first applied to the cross-secfion as
shown in Fig. 1 and afterwards, the flexural moment is applied. Compute the axial force which leads to the
maximum ultimate flexural capacity. '

| ALY =DM f'=35MPa
compressive strength.of concrete
§5%: 5 00 B (R 3R 15 fy=400MPa : Yield strength of rebars

o] %75 OO WAL R % E5=200,000MPa : Elasticity of rebars
= #3515 B As=40 cm?: total cross sectlonal area of
‘|'|‘1 . rebars : .
T AL TY—+OEEK LU #H{) BE
Compressive stress- strain (¢') relahon of concrete '
#5755 :rebars fc’ : ;
eichiiil ) B
® 00 & f ') (ﬂﬂ !
' ' *Je ‘o 1 ;
_____ s<oosm | (FEO G
~ b=03m T ~0.002 0.0035

1 gfF=io7 Y — M & SRR ,

Fig. 1 Reinforced concrete section and material properties

‘2, a7 U— hOREERE & UUSIR Mix proportion of concrete and cracking
KOFRINCBILTHE X K. Answer the following questions.’

a)ﬁlkxf7v/v==/ﬁv—bmmAkkwr Bk EEMEHROTELZEELTE A
v hRERNERELE, ﬁb&%ﬁﬁ®7VJv:n/&) k@z?yfﬁaﬁﬁzsam
- EMBRER YO X 5 R T DR AERE K. 2, CERRAEREY, SRORE U‘“ﬁ'
MEERTDbOLTE, ,
Explain how the slump value of ﬁ-esl:L concrete just after mixing and the compressive slrcngth of concrate at
28 days vary when just cement content is increased under the fixed unit water content and the sand/aggregates
volume ratio (s/a) for the fresh concrete (Table 1)



(z) TR Y ﬁ'ﬁm%éﬂlfﬁlﬁ'éui sﬁ 1 &w*&‘ﬁ)ﬁﬁﬁkmAﬁ: EcDJ: HIMEETS aerSJ:Wba
fERAE &, '

Explain how the constituent materials and mix proportion can be modiﬁed so as to reduce the risk of alkaline

-~ aggregate reaction.
#1 Tlyivamarvy— oS
: Table 1. Mix proportion of fresh concrete :
Gmax | AFV7 | KEAVME | EEK e | o H4r unit content (kg/m?)
(mm) | stump °| watertocement content @) | Kk AN | B | AR | B
(m)* ratio (%) (%) water | cement sand | ' gravel | admixture
20 10 557 2 44 | 180 360 800 | 1050 0

) @B LT FEA Y MER ordinery Portland cement used , i
s/a: #IFHIER sand/aggregates volume ratio, Gmax: AR OBEATE  Maximum size of coarse aggregate -

6) BECHHLL T RMERBRLTWBRE =2 ) — hRFTO L, %?T:&::z VoY

ERITRT AL AEXD, E20AKICRBT AR, SRME, oy UV— hoESIEEMO
EE L L biT, BGDJ: HEETS 73%!%15:4:0 BTIHRRTRESH, Feavy V-t
MT2b0e75, ,
Figure 2 shows the wall which is newly constructed on the messive concrete slab whose strength has been
sufficiently developed. Tllustrate how the terperature, tensile strength and the principal stress at Point A vary
. according to time after casting concrete of the wall. The consn-ﬁctidn is conducted in Yokohama in spring
. season. ’

@ avy ) FE&L%E’J‘Z)HWJ %{E‘Jﬁb UU‘?‘I%%&%E%%‘:/]\&‘ < 'é‘étbo)jfﬁ% 32y

TR X,

Answer three methods how to reduce the stress and the pmbab:hty of cracking of the concrete

wall, and explain their mechanisms.

~10m

ﬁﬂl~ﬁ!ﬁéﬂf.:z9')—~1~!

Nowly ciist concrote wall

Am -

A O Ll = B o)
.[_,ﬁu HeehEr i)

' ﬂxw‘&aﬂu R OFTRUE (3, m:::#ﬁ'sﬂ_iﬁ%ﬁ13h-cc \6, X
ﬁzvjfa)ﬁiﬂi!d)ﬂ BRI BRERATNAEDET S ARDMUR

Fav ) —rEEOEERET S,

Joint between the massive slab and the wall was falrly processed and construgcted

according to bullding codes for practice, Age of slab concrete exceeds 100 days

when thie wall was casted. Point Ais located on the surface of concrete body.

% 2 72:/&) - OIS EVUER
Flg 2 Suess of massive concrete and crackmg

H



3. $fF= U — MO Durability of reinforced concrete
HORVICE L T& 2 K, Answer the foliowing questions.

() BB AIGENESR, BRSNSy ) — MED O EEICRYELIERTS b
DETB, ZOLE, B3 IFTHECRREND Zo0fI =) U — ML) OESERORE.
KDOWCERE L, HEATE2Y 2 U~ bORENHR LITRTEY ThHY . ME2ETRENE
K-> THIENRSbOETS,

Figure 3 shows the simply supported reinforced concrete beamn Subjectedto repeatedly ttavelhng traffic loadson the
beam. Explmn which one of the following cross sections (See Fig. 3) may bring about longer fatigue life. The
concrete used for construction is shown in Table 1. Construction is well done according to standard specifications
and codes for practice.

@ BYHZT VA PR ROy U — T %ﬁ:ﬁﬁ'ﬁ‘é &, BHFFEMIKEITRSRDIZ LB
TW5, EOEHERIE LS
The fatigue life of prestressed concrete beams is much extended. Explain the reason.
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EpAR A
Urban planning from international perspective

Answer the following four questions. LT 4 SOENTRTEREER L,

Q1 Concigely expléin the following terms. S\F D T BT A X,

1) =Y 7eiP A MArea management

2) WHHEHY pre-disaster planning
3) PPP
4) &b RWEH/ Build Back Better

Q2 EAOLHKESEER OO THEE X,

Explain the scheme of the land readjustment systein in Japan.

Q3 HATIEE 1950 EALUGIHER SNz 2 —F TR k4 RREE KTV, £OMR

CEROVWTHHAL, 22— ¥ U VBEDTEDIZEO R S RLEPRLA LTV HONEHRAT L,

In Japan, many new towns have been developed after the 1950s, and now they face various
problems. Explain what problems new towns face and what measures are taken to tackle the

problems.

Q4 THEZHAEHHMRBIZETE 27 M CHD, 02T b @%ﬁﬁ%mm“ THavE
7 OWEWTOWTEAT &,

The figure below shows a concept of urban development Descrlbe the name of the concept
and out]me of the concept. )

Source: Calthorpe(1993)
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